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第1章	
 序論 

1.1 研究背景 
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1.2 一般的な IPルーティングの限界 

IP

Fig. 1
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Fig. 1 Next hop selecting on IP routing 

30 80%

Savage

 [2] ISP AS Point-of-Presence PoP

Teixeira  [3]

 

1.3 最適経路以外の利用 
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1.4 新たな通信方式に求められる条件 
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System

 

1.5 研究目的と本論文の構成 
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第2章	
 マルチパス通信方式 
 

2.1 代替経路の選択手法 

 

2.1.1 経由ルータによる経路制御 

Fig. 2  

 
Fig. 2 Multi-path routing by the routers 
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2.1.2 マルチホーミング（Multihoming） 

 
Fig. 3 Multi-homing 
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node-disjoint path  
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2.1.3 ソースルーティング 
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2.1.1

 

 

Fig. 4 Strict source routing 
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Fig. 5 Loose source routing. 

2.2 マルチパス処理レイヤ 

 

2.2.1 リンク層（MAC層） 
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2.2.2 インターネット層 

TCP

TCP

 

TCP

TCP
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TCP
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 TCP
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2.2.3 トランスポート層 
TCP
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TCP SCTP

 

TCP

 

2.2.4 アプリケーション層 

P2P

 

TCP

 

2.3 マルチパス通信における課題 

Karim Habak

 [18]

 

2.3.1 パケットの順不同な到着と再整列（reordering） 

 

TCP
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2.3.2 マルチパス通信におけるスケジューリング 

 

 

1)  

 
Fig. 6 Packet level scheduling 
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2.3.1

 

2)  

 
Fig. 7 Connection level scheduling 
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3)  

 

 
a) Data channel based splitting 

 
b) Data block based splitting 

Fig. 8 Splitted connection level scheduling 
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8 a HTTP Range

Fig. 8 b  [19]  

2.3.3 マルチパス通信によるネットワークリソース消費 

IP

 

EGP Exterior Gateway Protocol

 

𝐿𝐿 𝐿𝐿 + 𝛥𝛥𝑙𝑙 1

𝑄𝑄

1

𝐶𝐶 (𝛾𝛾) 𝐶𝐶 (𝛾𝛾) 𝐶𝐶 (𝛾𝛾)  

  𝐶𝐶 (𝛾𝛾) = 𝛾𝛾𝛾𝛾𝛾𝛾      1  

  𝐶𝐶 (𝛾𝛾) = 1 − 𝛾𝛾 𝐿𝐿 + Δ𝑙𝑙 𝑄𝑄     2  

 

  𝐶𝐶 𝛾𝛾 = 𝐶𝐶 𝛾𝛾 + 𝐶𝐶 𝛾𝛾  

     = 𝛾𝛾𝛾𝛾𝛾𝛾 + 1 − 𝛾𝛾 𝐿𝐿 + Δ𝑙𝑙 𝑄𝑄    

     = 𝐿𝐿𝐿𝐿 + 1 − 𝛾𝛾 Δ𝑙𝑙  𝑄𝑄     3  

𝛾𝛾=1 𝐶𝐶 1.0  

𝐶𝐶 1.0 = 𝐿𝐿𝐿𝐿      4  

 1 − 𝛾𝛾 Δ𝑙𝑙  𝑄𝑄 

 

𝛾𝛾 1

𝛾𝛾=0.5 0.5Δ𝑙𝑙  𝑄𝑄 90
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𝛾𝛾=0.9 0.1Δ𝑙𝑙  𝑄𝑄

 

 

 

2.4 本研究が提案するマルチパス通信の構成と要件 

2.4.1 代替経路選択 
2.1.1

AS

 

2.1.2

 

2.1.3 1

2.1.1  

2.1.3 2

 

2.1.1

2.1.3

Table 1



 17 

2.1.3 2

 

Table 1 Characteristics of alternative path selecting method. 

Type 

Impact to 

End-node Network 

2.1.1 Multi-path routing by routers   

2.1.2 Multi-homing   

2.1.3 1) Strict source routing   

2.1.3 2) Loose source routing   

2.4.2 マルチパス処理レイヤ 

TCP

TCP

TCP

 

OS

OS OS

 

 

2.4.3 スケジューリング方式 

 

TCP
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TCP

 

 

 

2.4.4 経路間優先制御 
2.3.3
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第3章	
 複数経路同時送信方式（SMPC） 

3.1 SMPC概要 

2 SMPC

Simultaneous Multi-Path Communication SMPC

Fig. 9  

  

Fig. 9 Concept of simultaneous multi-path communication (SMPC). 

SMPC SRC DST

IP

main-path sub-path

SMPC  

3.1.1 副経路の生成 

IPv4  [20] IPv6

0 [21] IP

RLY

SMPC   

3.1.2 パケットトレイン 
SMPC 𝑁𝑁

relay noderouter node

SRC DST

end node

main path

sub path
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𝑁𝑁

𝑆𝑆[byte]  

ID𝑋𝑋 𝑋𝑋
𝑋𝑋 1

TCP

 

ID 𝐾𝐾   𝐾𝐾 0

1 𝑁𝑁 − 1 ID 𝑋𝑋 ID 𝐾𝐾
 

𝑆𝑆 𝑁𝑁 𝑋𝑋 SMPC

 

3.1.3 TACK（Train ACK） 

 

TACK

TACK

TACK

 

3.1.4 SMPCの実装レイヤ 
SMPC UDP

UDP

SMPC

 

3.2 SMPCのモジュール構成 

Fig. 10 SMPC SMPC

Sender-Main/Sub

Controller
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Receiver

 

 

 

Fig. 10 Module structure of SMPC 

3.2.1 送信モジュールの動作 
Sender-M/S

 

 

3.2.1.1 パケットトレインの生成（送信モジュール） 
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3.2.1.2 パケットの送信スケジューリング 
Controller 𝑊𝑊𝑊𝑊[bps]

𝐼𝐼[sec] 𝐼𝐼 𝑊𝑊𝑊𝑊

𝑆𝑆  8 𝑊𝑊𝑊𝑊 bps bit per 

sec Byte 𝑆𝑆 bit

 

 𝐼𝐼 = 8  𝑆𝑆/𝑊𝑊𝑊𝑊     5  

𝑇𝑇𝑇𝑇
𝑇𝑇𝑇𝑇 𝑇𝑇𝑇𝑇[𝑋𝑋] 𝑊𝑊𝑊𝑊[𝑋𝑋]

𝑃𝑃[𝑋𝑋]  

 𝑇𝑇𝑇𝑇[𝑋𝑋] = 𝑇𝑇𝑇𝑇 − 𝑇𝑇𝑇𝑇      6  

 𝑊𝑊𝑊𝑊[𝑋𝑋]   =    ( )
𝑇𝑇𝑇𝑇

[𝑋𝑋]    7   

SMPC

.  

3.2.1.3 データパケットの送信 
SMPC ID 𝑋𝑋 ID 𝐾𝐾 ID 𝑁𝑁 − 1

𝑃𝑃[𝑋𝑋]  𝐷𝐷𝑝𝑝

𝐷𝐷𝐷𝐷 SMPC

 

SMPC 28bit ID 4bit ID 4bit

ID 2bit 32bit 70bit 2bit

72bit  

3.2.2 受信モジュールの動作 
Receiver

ID ID

TACK Train ACK
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3.2.2.1 データパケット受信時の動作 

1)  

ID 𝑋𝑋

ID𝑋𝑋 𝑁𝑁 bit 𝐹𝐹 0

ID𝑋𝑋 𝑇𝑇𝑇𝑇  

2)  

𝐹𝐹 𝐾𝐾 𝑇𝑇𝑇𝑇
𝐷𝐷𝐷𝐷  

3)  

𝐾𝐾 = 𝑁𝑁 − 1 1)

2) 𝑇𝑇𝑇𝑇 𝑇𝑇𝑇𝑇 𝑇𝑇𝑇𝑇  

 𝑇𝑇𝑟𝑟 = 𝑇𝑇𝑇𝑇 − 𝑇𝑇𝑇𝑇      8  

TACK ID 𝑋𝑋  𝑃𝑃[X]  𝐹𝐹
𝑇𝑇𝑇𝑇[nsec] 𝑃𝑃  

TACK 28bit ID 2bit 16bit

64bit 110bit 2bit 112bit

 

3.2.2.2 イレギュラーな TACK返送処理 
ID 𝑋𝑋 ID 𝑋𝑋′

ID 𝑋𝑋
ID 𝑋𝑋′

3.2.2.1 1 ID 𝑋𝑋 TACK  

ID 𝑋𝑋
𝑇𝑇

ID 𝑋𝑋 TACK  

TACK 𝑇𝑇𝑇𝑇 TACK

 

3.2.2.3 受信データのマージ 
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𝐷𝐷𝑝𝑝 𝐷𝐷𝐷𝐷 𝐷𝐷𝐷𝐷
𝐷𝐷𝐷𝐷 𝐷𝐷𝐷𝐷

re-ordering  

3.2.3 制御モジュールの動作 
Controller TACK

TACK 𝑃𝑃[𝑋𝑋] 𝑋𝑋 𝐹𝐹 𝑇𝑇𝑇𝑇 𝑃𝑃
Sender-M/S 𝑊𝑊𝑊𝑊  

ID𝑋𝑋 TACK  

3.2.3.1 受信速度算出 
Fig. 11  

TACK 𝐹𝐹 1

𝑀𝑀 𝑀𝑀
𝑇𝑇𝑇𝑇 𝑆𝑆 𝑊𝑊𝑊𝑊  

 𝑊𝑊𝑊𝑊   =    (𝑀𝑀 − 1)  8𝑆𝑆  /  𝑇𝑇𝑇𝑇 (5) 

3.2.3.2 輻輳検知 
𝑁𝑁 𝑀𝑀

𝑊𝑊𝑊𝑊[𝑋𝑋] 𝑊𝑊𝑊𝑊  

 𝑅𝑅 = 𝑊𝑊𝑊𝑊/𝑊𝑊𝑊𝑊[𝑋𝑋]     9  

𝑊𝑊𝑊𝑊[𝑋𝑋]
 

1) CONGESTED  

𝑀𝑀<𝑁𝑁 𝑃𝑃[𝑋𝑋]
𝐹𝐹 0

 

2) SLIGHT  

  𝑀𝑀 𝑁𝑁，𝑅𝑅 < 1

𝑊𝑊𝑊𝑊 < 𝑊𝑊𝑊𝑊[𝑋𝑋]
𝑅𝑅𝑑𝑑(< 1) 𝑅𝑅 < 𝑅𝑅𝑑𝑑   
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3) MAYBE  

𝑀𝑀 𝑁𝑁 1 < 𝑅𝑅  

𝑅𝑅𝑎𝑎(> 1) 𝑅𝑅 > 𝑅𝑅𝑅𝑅   

4) NONE  

𝑀𝑀 𝑁𝑁，𝑅𝑅𝑅𝑅 ≤ 𝑅𝑅 ≤ 𝑅𝑅𝑅𝑅 𝑊𝑊𝑊𝑊[𝑋𝑋]
 

 
Fig. 11 Measurement of receiving rate with packet trains. 

3.2.3.3 送信速度𝑊𝑊𝑊𝑊更新（輻輳回避） 
2) 𝑃𝑃[𝑋𝑋]

𝑊𝑊𝑊𝑊 𝑊𝑊𝑊𝑊′  

SRC DST
. .

 .

Ts 1

Ts 2

Ts 3

Ts N

Ts

Data packet

TACK packet
(including Tr, M)

Tr 1

Tr 2

Tr M

. .
 .

. .
 .

Tr

Ts = TsN - Ts 1

Tr = TrM - Tr 1

             Sending rate: Ws = ( N - 1 ) 8 S / Ts
          Receiving rate: Wr = ( M - 1 ) 8 S / Tr
Data size of a packet: S [byte]
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1) CONGESTED 

𝑊𝑊𝑊𝑊′
𝑊𝑊𝑊𝑊 ∆𝑤𝑤  

 𝑊𝑊𝑊𝑊′   =   𝑊𝑊𝑊𝑊   −   ∆𝑤𝑤     10  

∆𝑤𝑤 SMPC  

2) SLIGHT 

𝑊𝑊𝑊𝑊′ 𝑊𝑊𝑊𝑊  

 𝑊𝑊𝑊𝑊′   =   𝑊𝑊𝑊𝑊     11  

3) MAYBE 

𝑊𝑊 𝑊𝑊𝑊𝑊[𝑋𝑋] ∆𝑤𝑤  

 𝑊𝑊𝑊𝑊′   =   𝑊𝑊𝑊𝑊[𝑋𝑋]   −   ∆𝑤𝑤    12  

4) NONE 

𝑊𝑊𝑊𝑊′ 𝑊𝑊𝑊𝑊[𝑋𝑋] ∆𝑤𝑤
 

 𝑊𝑊𝑊𝑊′   =   𝑊𝑊𝑊𝑊[𝑋𝑋]   +   ∆𝑤𝑤    13  

 

SMPC Table 2 SMPC

TCP Reno

SMPC

 

Table 2 Transmission rate control of SMPC. 

Status Condition Situation 𝑊𝑊𝑊𝑊′ 

CONGESTED 𝑀𝑀 < 𝑁𝑁 One or more packets are lost on the path. 𝑊𝑊𝑊𝑊 − 𝛥𝛥𝑤𝑤 

SLIGHT 𝑀𝑀 = 𝑁𝑁, 𝑅𝑅 < 𝑅𝑅𝑅𝑅 Receiving rate is decelerated obviously. 𝑊𝑊𝑊𝑊 

MAYBE 𝑀𝑀 = 𝑁𝑁, 𝑅𝑅 < 𝑅𝑅𝑅𝑅 Receiving rate is accelerated obviously. 𝑊𝑊𝑊𝑊 − 𝛥𝛥𝑤𝑤 

NONE 𝑀𝑀 = 𝑁𝑁, 𝑅𝑅𝑅𝑅 ≦ 𝑅𝑅 ≦ 𝑅𝑅𝑅𝑅 Receiving rate is almost the same as sending rate. 𝑊𝑊𝑊𝑊 + 𝛥𝛥𝑤𝑤 
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3.3 経路間優先制御 

2.3.3

SMPC

 

3.3.1 経路間優先制御の概要 
SMPC

SMPC

 

 

SMPC

 

3.2.3.3 4)
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3.3.2 合計受信速度の収束判定 

SMCP

Fig. 12

 

 

Fig. 12 Converged bandwidth estimation. 

1)  

1

TACK

 

Wr

Wr

Wr

WrWrWr

Wr

Wt Wt Wt Wt

i i-1

received 
rate

main

sub

Wr

i-2

Wt Wt Wt Wt

i-3

………total 
received rate 

i-(Y-2) i-(Y-1) i-Y i-(Y+1)

Wt Wt Wt Wt Wt Wt Wt Wt………~ ~ ~ ~ ~average 
received rate

~ ~ ~

sum up (2)

simple moving average (3)

j j-1 j-2 j-3 j-(Y-2) j-(Y-1) j-Y j-(Y+1)

Wt
~

Wt
~

It is considered that the total receiving rate is converged when the deference of both values is less than θ.  

comparisons (4) 

update the received rate of each path (1) 
 (TACK receive)

oldnew
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2) 𝑊𝑊  

𝑌𝑌

𝑊𝑊  

TACK TACK

 

3) 𝑊𝑊 𝑊𝑊  

𝑌𝑌 𝑊𝑊   𝑊𝑊  

𝑖𝑖 ≥ 𝑌𝑌 𝑖𝑖 𝑊𝑊 (𝑖𝑖) 𝑊𝑊 (𝑗𝑗)

 

 𝑊𝑊 (𝑗𝑗) =    ( )    14  

4)  𝑊𝑊  

3) 𝑊𝑊 (𝑗𝑗) 𝑗𝑗 > 𝑌𝑌
𝑊𝑊 (𝑗𝑗)   𝑌𝑌 𝑊𝑊 (𝑗𝑗 − 𝑌𝑌)

𝑊𝑊 3.3.1

 

 𝑊𝑊 (𝑗𝑗) −𝑊𝑊 (𝑗𝑗 − 𝑌𝑌) < 𝜃𝜃    15  

 

𝑊𝑊
 

3.4 マルチパス通信としての SMPC 

SMPC IP IPv6

IPv6/UDP
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SMPC 2.4  
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第4章	
 ネットワークシミュレータの製作 

 

IPv6 2006 NS-2 QualNet

IPv6

2008 6 NS-2 NS-3

NS-3 IPv6

2010

3.7

 

IPv6

NetSim6 Network Simulator for IPv6  [5]

NetSim6 RNS Ruby Network Simulator

SMPC RNS  

4.1 NetSim6概要 

NetSim6 IP

IP

IP

IP

NetSim6

Fig. 13  

NetSim6

IP  
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Fig. 13 Life cycle of packets on NetSim6 

4.1.1 NetSim6の構成 
Fig. 14 NetSim6  

NetSim6 Fig. 13

 

1) SimMgr 

 

2) Link 

Interface IPv6Packet Interface

 

3) Interface 

Node IPv6Packet Link  

4) NetApp 

IPv6Packet NetApp mix-in

SimMgr

Node 
(Source)

Node 
(Destination)

Node 
(Router)

Inter
face

Inter
face

Inter
face

Inter
face

NetApp

function of Node 
(L2-L4)

NetApp

Link Link

P P

function of Node 
(L2-L4)

function of Node 
(L2-L4)
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5) Node 

IPv6  

6) IPv6Packet 

IPv6 IPv6Header

IPv6RtoutingHeaderType0  

 

Fig. 14 Class tree of NetSim6 

4.1.2 NetSim6に残された課題 
NetSim6 IPv6

 

1)  

100Mbps

=10 1500byte

100Mbps  

Class

Module

inheritance

SimMgr

Node

Interface

Link

NetApp

Built-in Class

IPv6Packet

IPv6Header

IPv6RoutingHeader IPv6RoutingHeaderType0

StandardError

NetSimError BadNodeName

NoRoutingInfo

BadMacAddr

BadLinkName

HopLimitError

DestinationChanged
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NetSim6

NetSim6

 

2)  

NetSim6 1500byte

SMPC IPv6

 

 

3) /  

NetSim6

 

Node Ethernet/IPv6/UDP

Node IPv4 TCP

Node  

4.2 RNS（Ruby Network Simulator） 

4.1.2 NetSim6 NetSim6

RNS  

RNS IP

NetSim6

 

RNS Fig. 15  
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Fig. 15 Packet life cycle on RNS 

4.2.1 RNSのクラス構成 
RNS Fig. 16  

RNS Simulator Node Interface SimUnit

MacAddress IPv6Address

BitData

 

SimUnit

 

BitData

BitData mix-in RNS

 

DataCapsule BitData

BitData IP

IP UDP

 

Sim

Node 
(Source)

Node 
(Destination)

Node 
(Router)

Inter
face

Inter
face

Inter
face

Inter
face

L2

L3

L4

Appilcation

L2

L3

L2

L3

L4

Application

Network Network

P P
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Fig. 16 Class tree of RNS 

Class

Module

inheritance

mix-in

SimUnit Sim

Node

Interface

Network

L2

L3

L4

Application

L2::Ethernet

Socket

L3::IPv6

L4::UDP

Socket::
UDPv6Socket

BitData

CapsuledData

DataCapsule L2::DataSet

Built-in Class

Interface::
MacAddress

L2::Ethernet::
Packet

String

IPAddr

L3::DataSet L3::IPv6::
Packet

L4::DataSet L4::UDP::
Packet

L3::IPv6::Packet::
Header::Routeting

L3::IPv6::Packet::
Header::Routeting::Type0C

L3::IPv6::Packet::
Header::Basic

EXeption

Error IllegalDataType

IllegalTarget

ObjectAlreadyExist

Interface::
InterfaceAlreadyConnected

L3::IPv6::Packet::
Header::Basic

L3::IPv6::Packet::
Header::Basic

L3::RoutingTable

L3::RoutingInfo
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CapsuledData BitData

BitData DataCapsule

IP Ruby

BitData mix-in

DataCapsule  

2 L3 RoutingTable

L3 RoutingInfo /

 

4.2.2 RNSにおけるパケット送受信処理 
RNS UDP/IP 6 Fig. 17

 

Application

Socket make_new_paket

Socket L4 UDP L3 IP 6 L2 Ethernet

new_packet

Application  

Application Socket

send Socket L3 IPv6

Inteface

add_output_queue  

Interface Network put

 

Interface 75 RED

 

Network

Iterface input  

Interface input

L3

L3 IPv6  L3 IPv6

L2 new_paket
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Interface add_output_queue

L4 UDP

Socket input Application

input  

 

Fig. 17 Sequence diagram of the packet sending on RNS 

 

Network

Interface L2::Ethernet L3::IPv6 L4::UDP Application

Socket

Node

make_new_paket(data)

L4#new_paket(data)

L3#new_paket(l4p)

L2#new_paket(l3p)

l4p

l3p

l2p

p

send(p)

add_output_queue(p)

put(p)

(hold some counts)

input(p)

L2#input(l2p)

L3#input(l3p)

L2#new_paket(l3p)

l2p

add_output_queue(p)

put(p)

(hold some counts)

Interface 
#input(p)

L2#input(l2p)

L3#input(l3p)

(packet forwarding)

Socket#input(data)
Application 
#input(data)

L4#input(l4p)
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RNS

 

4.2.3 NetSim6からの改善ポイント 

1)  

 

2)  

IPv6 Ethernet

IPv6

 

3)  

NetSim6 Node Link Interface

RNS

SimUnit

 

Node L2 L3

L4 Ethernet IPv6 UDP

mix-in IPv4 TCP

 

4.3 RNSの評価実験 

RNS  

Fig. 18  
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Fig. 18 RNS evaluation network. 

SRC DST

100Mbps

 

FreeBSD PC

100Base-TX UTP

RNS Fig. 18  

SMPC

MB

𝑊𝑊𝑊𝑊 UDP

𝑊𝑊𝑊𝑊  

4.3.1 クロストラフィックに対するスループット変化 

𝑊𝑊𝑊𝑊 0 10Mbps 90

Fig. 19  

𝑊𝑊𝑊𝑊

SMPC UDP

 

 

router nodeend node

SRC DST

Wx

data packet
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Fig. 19 Comparison total throughputs between simulation and practical experiments 

with cross traffic. 

4.3.2 クロストラフィックの変化に対する受信速度応答 
𝑊𝑊𝑊𝑊

 

𝑊𝑊𝑊𝑊=0 3

𝑊𝑊𝑊𝑊=70 𝑊𝑊𝑊𝑊 Fig. 20

𝑊𝑊𝑊𝑊 𝑊𝑊𝑊𝑊  

a) b) 

𝑊𝑊𝑊𝑊 30Mbps  
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a) Simulation result 

 

b) Practical experiment 

Fig. 20 Changes in receiving rate with cross traffic on single path. 

(Comparison between simulation and practical experiment) 
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第5章	
 SMPC通信実験：シミュレーション 
SMPC RNS

 

5.1 シミュレーションネットワーク 

SMPC Fig. 21  

 
Fig. 21 Simulation network. 

Mbps

SRC DST

IP SMPC

RLY

IPv6 IPv6

SMPC

 

𝑆𝑆 1024[byte] 𝑁𝑁=16 𝛥𝛥𝛥𝛥=1[Mbps] 𝑅𝑅𝑅𝑅=0.95 𝑅𝑅𝑅𝑅=1.05 1 

 UDP

𝑊𝑊𝑊𝑊1 𝑊𝑊𝑊𝑊2 𝑊𝑊𝑊𝑊3  
                                                
1 𝑅𝑅𝑅𝑅 𝑅𝑅𝑅𝑅 1%

A  

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx1 Wx3
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5.2 経路の混雑に対するトラフィック分配 

SMPC

5.1 𝑊𝑊𝑊𝑊1 𝑊𝑊𝑊𝑊2 𝑊𝑊𝑊𝑊3
SMPC 100MB

 

5.2.1 主経路混雑時の挙動 
SMPC 𝑊𝑊𝑊𝑊2 =

𝑊𝑊𝑊𝑊3 = 0 𝑊𝑊𝑊𝑊1 Fig. 22

𝑊𝑊𝑊𝑊1
  

𝑊𝑊𝑊𝑊1

SMPC

 

 a  𝑊𝑊𝑊𝑊1 50

𝑊𝑊𝑊𝑊1 50 𝑊𝑊𝑊𝑊1

  b 𝑊𝑊𝑊𝑊1=0

𝑊𝑊𝑊𝑊1

 

5.2.2 副経路混雑時の挙動 
SMPC 𝑊𝑊𝑊𝑊1 =

𝑊𝑊𝑊𝑊3 = 0 𝑊𝑊𝑊𝑊2 5.2.1 Fig. 23

 

𝑊𝑊𝑊𝑊2

SMPC  
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a) SMPC without path priority 

 

b) SMPC with path priority 

Fig. 22 Throughput of each path with cross traffic on the main-path. 

(Comparison by having priority control or not) 

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx1 Wx3
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 a 𝑊𝑊𝑥𝑥2 50

𝑊𝑊𝑊𝑊2 50 𝑊𝑊𝑊𝑊2

 

 b 𝑊𝑊𝑥𝑥2
9  

5.2.3 共有経路混雑時の挙動 
SMPC

𝑊𝑊𝑥𝑥1=𝑊𝑊𝑊𝑊2=0 𝑊𝑊𝑊𝑊3 5.2.1 Fig. 

24  

𝑊𝑊𝑊𝑊3 5.2.1 5.2.2 𝑊𝑊𝑥𝑥3

 

a) 𝑊𝑊𝑊𝑊3

b) 𝑊𝑊𝑊𝑊3  

5.3 混雑状況変化への応答 

SMPC

 

5.3.1 主経路混雑状況変化時 

SMPC 3 𝑊𝑊𝑊𝑊1 70Mbps

Fig. 25 SMPC 8

 

SMPC

a

b
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a) SMPC without path priority 

 

b) SMPC with path priority 

Fig. 23 Throughput of each path with cross traffic on the sub-path. 

(Comparison by having priority control or not) 

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx1 Wx3
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a) SMPC without path priority 

 

b) SMPC with path priority 

Fig. 24 Throughput of each path with cross traffic on the shared link. 

(Comparison by having priority control or not) 

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx1 Wx3
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𝑊𝑊𝑊𝑊1 30Mbps

60Mbps

 

b 𝑊𝑊𝑊𝑊1
0.5

45Mbps 70Mbps 25Mbps

10Mbps

 70Mbps 60Mbps

1 TACK

 

5.3.2 副経路混雑状況変化時 
Fig. 26 SMPC

3 𝑊𝑊𝑊𝑊2 70Mbps TACK

SMPC 8

 

Fig. 25

 

𝑊𝑊𝑊𝑊2 a Fig. 25 a  

30Mbps

60Mbps  

b 𝑊𝑊𝑊𝑊2
10Mbps 𝑊𝑊𝑊𝑊2
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a) SMPC without priority control 

 

b) SMPC with priority control 

Fig. 25 Changes in receiving rate with cross traffic on the main-path. 

(Comparison by having priority control or not) 

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx1 Wx3
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a) SMPC without priority control 

 

b) SMPC with priority control 

Fig. 26 Changes in receiving rate with cross traffic on the sub-path. 

(Comparison by having priority control or not) 

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx1 Wx3
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5.3.3 共有リンク混雑状況変化時 
Fig. 27 SMPC

3 𝑊𝑊𝑊𝑊3 70Mbps TACK

SMPC 8

 

Fig. 25

 

𝑊𝑊𝑊𝑊3

5.3.1 5.3.2 30Mbps

 

a 30Mbps

 

b 30Mbps

 

5.4 考察：シミュレーション 

5.4.1 経路混雑時の挙動 
5.2

SMPC  

Fig. 22 a Fig. 23 a

 

5.2.3

SMPC

 

 



 53

 

 

a) SMPC without priority control 

 

b) SMPC with priority control 

Fig. 27 Changes in receiving rate with cross traffic on the shared link. 

(Comparison by having priority control or not) 

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx1 Wx3
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5.4.2 混雑状況変化への応答 
5.3.1 5.3.2 SMPC

 

Fig. 25 a b

 

SMPC TACK

SMPC

SMPC  

5.4.3 経路間優先制御の評価 
Fig. 22 b 𝑊𝑊𝑊𝑊1=0

𝑊𝑊𝑊𝑊1

 

Fig. 23 b 𝑊𝑊𝑥𝑥2

Fig. 23

𝑊𝑊𝑊𝑊2
 

Fig. 24 b 𝑊𝑊𝑊𝑊3

SMPC
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第6章	
 SMPC通信：実機実験 
SMPC SMPC

SMPC

 

6.1 実験ネットワーク 

Fig. 28  

 
Fig. 28 Assembled network. 

SRC DST

Fig. 21 RLY

SMPC

 

FreeBSD PC UNIX

100Base-TX

 

Table 3  

 

relay noderouter nodeend node

SRC DST

RLY

sub-path

main-path
Wx
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Table 3 Machine specification of major nodes. 

Node CPU MEM OS NIC 

SRC 
Intel Pentium4 

3.2GHz 
512MB 

FreeBSD 
4.10-RELEASE 

Intel EtherExpress PRO/100B 

DST 
Intel Pentium4 

1.5GHz 
256MB 

FreeBSD 
4.10-RELEASE 

Intel EtherExpress PRO/100B 

RLY Intel Pentium4 
3.2GHz 

512MB FreeBSD 
4.10-RELEASE 

Intel EtherExpress PRO/100B  2 

 

UDP TCP

UDP 𝑊𝑊𝑊𝑊

TCP TCP 𝑊𝑊𝑊𝑊
 

6.2 実験プログラム 

SMPC C IPv6/UDP

 

 

UDP

IPv6

0 IPv6  

SMPC

 

6.3 予備実験：主経路混雑時の挙動 

𝑊𝑊𝑊𝑊 UDP

SMPC 100MB

 

Fig. 29 𝑊𝑊𝑊𝑊 0Mbps 10Mbps 90Mbps 10

𝑊𝑊𝑊𝑊
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Fig. 22 

Fig. 22  

 

Fig. 29 Throughput of each path with cross traffic on the main-path. 

(Assembled network) 

SMPC

SMPC 𝑊𝑊𝑊𝑊 70Mbps UDP

Fig. 30 SMPC

3

2.7

Fig. 25 a  

45Mbps

30Mbps
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Fig. 30 Changes in receiving rate with cross traffic on the main-path. 

(Assembled network) 

SMPC

 

6.4 SMPCパラメータの影響 

SMPC 𝑁𝑁
𝛥𝛥𝛥𝛥 SMPC  

𝑁𝑁

100MB

𝑊𝑊𝑊𝑊 𝛥𝛥𝛥𝛥 1.0

 

Table 4 𝑊𝑊𝑊𝑊 1000 𝑊𝑊𝑊𝑊 𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊
𝜎𝜎 𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊 𝛥𝛥𝛥𝛥
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Table 4 Effect on the train size on SMPC (1) 

Train size N=4 N=8 N=12 N=16 

Wavg [Mbps] 35.20 94.06 93.54 93.04 

 [Mbps] 4.36 2.19 0.89 0.36 

t [sec] 0.169 0.405 0.536 0.906 

 

𝑁𝑁 8 𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊 90Mbps 100Mbps

𝑁𝑁=4 35Mbps

𝜎𝜎 𝑁𝑁
𝛥𝛥𝛥𝛥 𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊 𝑁𝑁=4

𝑁𝑁  

𝑁𝑁
𝑊𝑊𝑊𝑊 90Mbps UDP

100MB

𝛥𝛥𝛥𝛥 Table 4

1.0 Table 5 𝑁𝑁
 

Table 5 Effect on the train size on SMPC (2) 

Train size N=4 N=8 N=12 N=16 

main-path [Mbps] 14.50 15.89 15.12 14.56 

sub-path [Mbps] 23.11 45.40 61.98 69.76 

total [Mbps] 37.61 61.29 77.10 84.32 

 

90Mbps UDP

15Mbps 𝑁𝑁=4

23Mbps 𝑁𝑁
𝑁𝑁=16 70Mbps

 

𝛥𝛥𝛥𝛥
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100MB 𝑊𝑊𝑊𝑊
𝑁𝑁 16  

Table 6 Table 4 𝑊𝑊𝑊𝑊 1000

𝑊𝑊𝑊𝑊 𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊 𝜎𝜎 𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊
𝛥𝛥𝛥𝛥  

Table 6 Effect of Δw on SMPC. 

w [Mbps] 0.5 1.0 2.0 

Wavg [Mbps] 93.04 93.04 93.05 

 [Mbps] 0.33 0.36 0.37 

t [sec] 1.292 0.906 0.313 

 

𝛥𝛥𝛥𝛥 𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊 100Mbps

𝜎𝜎 𝛥𝛥𝛥𝛥
𝛥𝛥𝛥𝛥 𝛥𝛥𝛥𝛥  

6.5 SMPC通信が TCP通信へ与える影響 

SMPC TCP

Fig. 28 TCP

SMPC TCP

 

SMPC 𝛥𝛥𝛥𝛥 1.0 𝑁𝑁=4 8 12 16 4

TCP Fig. 31

1MB TCP SMPC

4  

SMPC TCP SMPC TCP

Table 7  

SMPC 90Mps

TCP SMPC

TCP 𝑁𝑁=4 70Mbps 𝑁𝑁=8

50Mbps 𝑁𝑁=12 40Mbps 𝑁𝑁=16 30Mbps 𝑁𝑁
TCP  
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Fig. 31 Influence of SMPC on the TCP traffic. 

 

Table 7 Average throughputs of SMPC and TCP. 

Train size N=4 N=8 N=12 N=19 

SMPC [Mbps] 19.06 40.43 53.89 64.37 

TCP [Mbps] 71.96 52.36 41.40 29.80

6.6 考察：実機実験 

6.6.1 SMPC通信におけるパラメータ変化の影響 
SMPC 𝑁𝑁 𝛥𝛥𝛥𝛥 SMPC

 

Table 6 𝛥𝛥𝛥𝛥 𝛥𝛥𝛥𝛥
TACK
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𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊 𝜎𝜎  

𝑁𝑁 SMPC

Table 4 𝑁𝑁 𝛥𝛥𝛥𝛥

TACK SMPC

𝑁𝑁=4

𝑊𝑊𝑊𝑊𝑊𝑊𝑊𝑊 35Mbps Table 5

𝑁𝑁

 

𝑁𝑁 𝑊𝑊𝑎𝑎𝑎𝑎𝑎𝑎

 

0  [22]

𝑇𝑇𝑇𝑇
𝐽𝐽  

SMPC 𝑇𝑇𝑇𝑇 𝑊𝑊𝑊𝑊

𝑊𝑊𝑊𝑊 𝑊𝑊𝑊𝑊 𝑅𝑅 𝑅𝑅𝑅𝑅 𝑅𝑅 𝑅𝑅ａ 𝑊𝑊𝑊𝑊
𝑇𝑇𝑇𝑇 𝑊𝑊𝑊𝑊 𝑅𝑅

𝑊𝑊𝑊𝑊

𝐽𝐽𝑐𝑐  

𝑇𝑇𝑇𝑇 𝐽𝐽 𝐽𝐽 ≤ 𝐽𝐽𝑐𝑐 SMPC

SMPC 𝑊𝑊𝑊𝑊 𝐽𝐽 𝐽𝐽𝑐𝑐

𝑅𝑅 𝑅𝑅𝑅𝑅   𝑅𝑅𝑅𝑅
𝑊𝑊𝑊𝑊  

𝑊𝑊𝑠𝑠 𝑇𝑇𝑠𝑠

𝑊𝑊𝑠𝑠 𝐽𝐽𝑐𝑐 𝑁𝑁
𝐽𝐽 𝑊𝑊𝑊𝑊 𝐽𝐽 𝐽𝐽𝐽𝐽 𝑁𝑁

Table 4 𝑁𝑁 12 16 100Mbps

𝑁𝑁  

𝑊𝑊𝑊𝑊 𝐽𝐽 𝐽𝐽 𝐽𝐽𝐽𝐽 𝑁𝑁
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𝑁𝑁
 

6.6.2 TCP Friendliness 
TCP  [23]

UDP

TCP 

Friendly  

TCP TCP 

Friendly

TCP Friendly  

SMPC TCP

UDP

TCP  

TCP SMPC

𝑁𝑁 Fig. 31 Table 7 𝑁𝑁
TCP  

TCP Firendliness 𝑁𝑁 SMPC
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第7章	
 考察 

7.1 SMPCの利点 
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Fig. 32 Inadequate relay nodes. 
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Fig. 33 Overlay network. 
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Fig. 34 DoS attack by using IPv6 routing header type0 
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Fig. 35 Loophole in security policy 
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Fig. A. 2 breakdown of the congestion status. 
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付録 B	
 RNSソースコード 
 RNS rns.rb  

=begin	
  

	
  	
  Ruby	
  Network	
  Simulator	
  ver.1.0.0	
  

	
  	
  coding	
  start	
  @	
  2009/11/13	
  

	
  	
  by	
  Akiji	
  Tanaka	
  (akiji@gifu-­‐u.ac.jp)	
  

=end	
  

	
  

require	
  'singleton'	
  

require	
  'ipaddr'	
  

	
  

################################################################################	
  

#	
  Ruby	
  Network	
  Simulator	
  Package	
  

################################################################################	
  

module	
  RNS	
  

	
  

	
  	
  class	
  Error	
  <	
  Exception;	
  end	
  

	
  	
  class	
  IllegalDataType	
  <	
  Error;	
  end	
  

	
  	
  class	
  IllegalTarget	
  <	
  Error;	
  end	
  

	
  	
  class	
  ObjectAlreadyExist	
  <	
  Error;	
  end	
  

	
  

	
  	
  def	
  RNS.type_check(_data,	
  _class)	
  

	
  	
  	
  	
  raise	
  IllegalDataType	
  unless	
  _data.is_a?(_class)	
  

	
  	
  	
  	
  _data	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  base	
  simulation	
  unit	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  SimUnit	
  

	
  

	
  	
  	
  	
  UNIT_ID	
  =	
  []	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  initialize	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  initialize(_parent,	
  _name,	
  _type)	
  

	
  	
  	
  	
  	
  	
  @name	
  =	
  _name	
  

	
  	
  	
  	
  	
  	
  @type	
  =	
  _type	
  

	
  	
  	
  	
  	
  	
  @uid	
  =	
  "#{_type}:#{_name}"	
  

	
  	
  	
  	
  	
  	
  raise	
  IllegalTarget,	
  "UID:	
  #{@uid}	
  is	
  already	
  exist."	
  if	
  UNIT_ID.include?(@uid)	
  

	
  	
  	
  	
  	
  	
  UNIT_ID	
  <<	
  @uid	
  

	
  	
  	
  	
  	
  	
  @child	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @parent	
  =	
  _parent.nil?	
  ?	
  nil	
  :	
  RNS.type_check(_parent,	
  SimUnit)	
  

	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @next_action_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @event	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @active	
  =	
  false	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  attr_reader	
  :name,	
  :type,	
  :uid,	
  :parent	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  child	
  unit	
  to	
  unit	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  add_child(_child,	
  _child_class)	
  

	
  	
  	
  	
  	
  	
  @child[_child.uid]	
  =	
  RNS.type_check(_child,	
  _child_class)	
  

	
  	
  	
  	
  	
  	
  return	
  _child	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  



 B.2 

	
  	
  	
  	
  #	
  proc	
  child	
  unit	
  with	
  specific	
  class	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  each_child(_class	
  =	
  SimUnit)	
  

	
  	
  	
  	
  	
  	
  @child.keys.sort.each	
  do	
  |key|	
  

	
  	
  	
  	
  	
  	
  	
  	
  yield(@child[key])	
  if	
  @child[key].is_a?(_class)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  count	
  up	
  triger	
  method	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  process()	
  

	
  	
  	
  	
  	
  	
  count	
  =	
  Sim.now	
  

	
  	
  	
  	
  	
  	
  call_event(count)	
  if	
  @event.has_key?(count)	
  

	
  	
  	
  	
  	
  	
  if	
  (@next_action_count.nil?	
  ||	
  @next_action_count	
  <=	
  count)	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  action()	
  if	
  !@next_my_count.nil?	
  &&	
  @next_my_count	
  <=	
  count	
  

	
  	
  	
  	
  	
  	
  	
  	
  @child.keys.sort.each	
  do	
  |uid|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @child[uid].process()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  count	
  up	
  action	
  method	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  action()	
  

	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  nil	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  check	
  next	
  action	
  count	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  next_count()	
  

	
  	
  	
  	
  	
  	
  counts	
  =	
  [@next_my_count,	
  @event.keys.min]	
  

	
  	
  	
  	
  	
  	
  each_child	
  do	
  |child|	
  

	
  	
  	
  	
  	
  	
  	
  	
  counts	
  <<	
  child.next_count()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  counts.delete(nil)	
  

	
  	
  	
  	
  	
  	
  @next_action_count	
  =	
  counts.min	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  child	
  unit	
  to	
  unit	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  set_parent(_parent)	
  

	
  	
  	
  	
  	
  	
  raise	
  IllegalTarget,	
  "UID:	
  #{@uid}	
  is	
  already	
  a	
  child	
  of	
  #{@parent.uid}"	
  unless	
  @parent.nil?	
  

	
  	
  	
  	
  	
  	
  @parent	
  =	
  _parent	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  convert	
  to	
  string	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  to_s	
  

	
  	
  	
  	
  	
  	
  to_str()	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  recursive	
  call	
  to	
  all	
  children	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  to_str(_indent	
  =	
  0)	
  

	
  	
  	
  	
  	
  	
  str	
  =	
  "	
  "	
  *	
  _indent	
  *	
  2	
  +	
  to_line()	
  +	
  "¥n"	
  

	
  	
  	
  	
  	
  	
  @child.keys.sort.each	
  do	
  |key|	
  

	
  	
  	
  	
  	
  	
  	
  	
  str	
  +=	
  @child[key].to_str(_indent+1)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  str	
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  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  log	
  entry	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  logging(_message,	
  _level	
  =	
  Sim::LOG_DEBUG)	
  

	
  	
  	
  	
  	
  	
  Sim.log(self,	
  _message)	
  if	
  Sim::Mgr.log_level	
  >=	
  _level	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  event	
  at	
  specific	
  time	
  count	
  

	
  	
  	
  	
  #	
  *	
  event	
  method	
  name	
  =	
  'call_'	
  +	
  event	
  name	
  

	
  	
  	
  	
  #	
  	
  	
  ex:	
  'test'	
  event's	
  method	
  name	
  is	
  'call_test'	
  

	
  	
  	
  	
  #	
  *	
  _opt	
  is	
  array	
  of	
  remain	
  parameter	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  add_event(_time,	
  _event_name,	
  *_opt)	
  

	
  	
  	
  	
  	
  	
  count	
  =	
  (_time	
  *	
  Sim::Mgr.granularity).to_i	
  

	
  	
  	
  	
  	
  	
  @event[count]	
  =	
  [_event_name.to_s,	
  _opt]	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  call	
  event	
  with	
  specific	
  time	
  count	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  call_event(_count)	
  

	
  	
  	
  	
  	
  	
  __send__('call_'	
  +	
  @event[_count][0].to_s,	
  @event[_count][1])	
  

	
  	
  	
  	
  	
  	
  @event.delete(_count)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  convert	
  to	
  one	
  line	
  style	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  to_line()	
  

	
  	
  	
  	
  	
  	
  @uid	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  convert	
  to	
  one	
  line	
  style	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  any_active?()	
  

	
  	
  	
  	
  	
  	
  active	
  =	
  is_active?	
  

	
  	
  	
  	
  	
  	
  each_child	
  do	
  |child|	
  

	
  	
  	
  	
  	
  	
  	
  	
  active	
  |=	
  child.any_active?()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  active	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  is_active?()	
  

	
  	
  	
  	
  	
  	
  false	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  CLASS	
  Simulation	
  Manager	
  

	
  	
  ##############################################################################	
  

	
  	
  class	
  Sim	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
  

	
  	
  	
  	
  include	
  Singleton	
  

	
  

	
  	
  	
  	
  Sim::LOG_ALWAYS	
  =	
  0	
  

	
  	
  	
  	
  Sim::LOG_INFO	
  =	
  1	
  

	
  	
  	
  	
  Sim::LOG_DEBUG	
  =	
  2	
  

	
  

	
  	
  	
  	
  ############################################################################	
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  #	
  get	
  simulation	
  count	
  just	
  now	
  !	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  Sim.now()	
  

	
  	
  	
  	
  	
  	
  Sim::Mgr.count	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  output	
  log	
  entry	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  Sim.log(_unit,	
  _msg)	
  

	
  	
  	
  	
  	
  	
  time	
  =	
  Sim::Mgr.count.to_f	
  /	
  Sim::Mgr.granularity	
  

	
  	
  	
  	
  	
  	
  tform	
  =	
  "%#.#{Math.log10(Sim::Mgr.granularity).to_i}f"	
  

	
  	
  	
  	
  	
  	
  line	
  =	
  [sprintf(tform,	
  time),	
  _unit.uid,	
  _msg].join("	
  ")#.gsub(/	
  /,	
  "¥t")	
  

	
  	
  	
  	
  	
  	
  Sim::Mgr.log.puts	
  line	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  initialize	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  initialize(_granularity	
  =	
  1000000000)	
  

	
  	
  	
  	
  	
  	
  super(nil,	
  'Mgr',	
  'Sim')	
  

	
  	
  	
  	
  	
  	
  @granularity	
  =	
  _granularity.to_i	
  

	
  	
  	
  	
  	
  	
  @log	
  =	
  STDOUT	
  

	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @next_action_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @count	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  @log_level	
  =	
  Sim::LOG_ALWAYS	
  

	
  	
  	
  	
  	
  	
  @start_time	
  =	
  nil	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  attr_reader	
  :granularity,	
  :log,	
  :count,	
  :log_level	
  

	
  

	
  	
  	
  	
  def	
  set_log_level(_level)	
  

	
  	
  	
  	
  	
  	
  @log_level	
  =	
  _level.to_i	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  new	
  node	
  to	
  simulator	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  add_node(_name,	
  _router	
  =	
  true)	
  

	
  	
  	
  	
  	
  	
  add_child(Node.new(self,	
  _name,	
  _router),	
  Node)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  each_node()	
  

	
  	
  	
  	
  	
  	
  each_child(Node)	
  do	
  |node|	
  

	
  	
  	
  	
  	
  	
  	
  	
  yield	
  node	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  new	
  network	
  to	
  simulator	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  add_network(_lid	
  =	
  nil,	
  _bandwidth	
  =	
  100)	
  

	
  	
  	
  	
  	
  	
  add_child(Network.new(self,	
  _lid,	
  _bandwidth),	
  Network)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  each_network()	
  

	
  	
  	
  	
  	
  	
  each_child(Network)	
  do	
  |network|	
  

	
  	
  	
  	
  	
  	
  	
  	
  yield	
  network	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  set_log_file(_filename)	
  

	
  	
  	
  	
  	
  	
  ps	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  begin	
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  raise	
  if	
  File.exist?(_filename)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @log	
  =	
  File.open(_filename,	
  'w')	
  

	
  	
  	
  	
  	
  	
  rescue	
  

	
  	
  	
  	
  	
  	
  	
  	
  ps	
  +=	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  _filename	
  +=	
  ".#{ps}"	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  start()	
  

	
  	
  	
  	
  	
  	
  @start_time	
  =	
  Time.now	
  

	
  	
  	
  	
  	
  	
  logging('start	
  Simulation',	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  logging('set	
  RoutingTable	
  to	
  Simulation',	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  RNS::L3::RoutingTable.set_routing_table(self)	
  

	
  	
  	
  	
  	
  	
  each_node	
  do	
  |node|	
  

	
  	
  	
  	
  	
  	
  	
  	
  print	
  node.uid	
  

	
  	
  	
  	
  	
  	
  	
  	
  puts	
  node.l3[RNS::L3::IPv6].routing_table	
  

	
  	
  	
  	
  	
  	
  end	
  if	
  DEBUG	
  

	
  

	
  	
  	
  	
  	
  	
  @count	
  =	
  next_count()	
  

	
  	
  	
  	
  	
  	
  begin	
  

	
  	
  	
  	
  	
  	
  	
  	
  process()	
  

	
  	
  	
  	
  	
  	
  	
  	
  count	
  =	
  next_count()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @count	
  =	
  count	
  

	
  	
  	
  	
  	
  	
  end	
  while	
  any_active?()	
  

	
  	
  	
  	
  	
  	
  logging("finish	
  Simulation	
  with	
  #{Time.now	
  -­‐	
  @start_time}sec",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  Mgr	
  =	
  Sim.instance	
  

	
  

	
  	
  end	
  

	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  Capsuled	
  Data	
  Format	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  BitData	
  

	
  

	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  0	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  CLASS	
  Basic	
  Capsuled	
  Data	
  Object	
  

	
  	
  ##############################################################################	
  

	
  	
  class	
  CapsuledData	
  

	
  	
  	
  	
  include	
  BitData	
  

	
  

	
  	
  	
  	
  def	
  initialize(_data,	
  _bit_size)	
  

	
  	
  	
  	
  	
  	
  @data	
  =	
  _data	
  

	
  	
  	
  	
  	
  	
  @bit_size	
  =	
  _bit_size	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  attr_reader	
  :data,	
  :bit_size	
  

	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  Capsuled	
  Data	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  DataCapsule	
  

	
  

	
  	
  	
  	
  include	
  BitData	
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  def	
  initialize()	
  

	
  	
  	
  	
  	
  	
  @data	
  =	
  {}	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  add_data(_name,	
  _data,	
  _class	
  =	
  BitData)	
  

	
  	
  	
  	
  	
  	
  RNS.type_check(_data,	
  _class)	
  

	
  	
  	
  	
  	
  	
  @data[_name.to_s]	
  =	
  _data	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  [](_key)	
  

	
  	
  	
  	
  	
  	
  @data[_key]	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  []=(_key,	
  _value)	
  

	
  	
  	
  	
  	
  	
  @data[_key]	
  =	
  RNS.type_check(_value,	
  BitData)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  has_key?(_key)	
  

	
  	
  	
  	
  	
  	
  @data.has_key?(_key)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  s	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  @data.each_value	
  do	
  |data|	
  

	
  	
  	
  	
  	
  	
  	
  	
  s	
  +=	
  data.bit_size()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  s	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  CLASS	
  Node	
  

	
  	
  ##############################################################################	
  

	
  	
  class	
  Node	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  initialize	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  initialize(_parent,	
  _name,	
  _router	
  =	
  false)	
  

	
  	
  	
  	
  	
  	
  super(_parent,	
  _name,	
  'ND')	
  

	
  	
  	
  	
  	
  	
  @inf	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @l2	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @l3	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @l4	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @app	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @router	
  =	
  _router	
  ?	
  true	
  :	
  false	
  

	
  	
  	
  	
  	
  	
  add_l2(L2::Ethernet)	
  

	
  	
  	
  	
  	
  	
  add_l3(L3::IPv6)	
  

	
  	
  	
  	
  	
  	
  add_l4(L4::UDP)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  attr_reader	
  :inf,	
  :l2,	
  :l3,	
  :l4,	
  :app	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  interface	
  to	
  node	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  add_inf()	
  

	
  	
  	
  	
  	
  	
  inf_num	
  =	
  @inf.size	
  

	
  	
  	
  	
  	
  	
  inf	
  =	
  Interface.new(self,	
  inf_num)	
  

	
  	
  	
  	
  	
  	
  add_child(inf,	
  Interface)	
  

	
  	
  	
  	
  	
  	
  @inf[inf_num]	
  =	
  inf	
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  end	
  

	
  

	
  	
  	
  	
  def	
  each_interface()	
  

	
  	
  	
  	
  	
  	
  each_child(Interface)	
  do	
  |inf|	
  

	
  	
  	
  	
  	
  	
  	
  	
  yield	
  inf	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  add_l2(_l2_class)	
  

	
  	
  	
  	
  	
  	
  l2	
  =	
  	
  add_child(_l2_class.new(self),	
  L2)	
  

	
  	
  	
  	
  	
  	
  @l2[_l2_class]	
  =	
  l2	
  

	
  	
  	
  	
  	
  	
  return	
  l2	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  add_l3(_l3_class)	
  

	
  	
  	
  	
  	
  	
  l3	
  =	
  	
  add_child(_l3_class.new(self),	
  L3)	
  

	
  	
  	
  	
  	
  	
  @l3[_l3_class]	
  =	
  l3	
  

	
  	
  	
  	
  	
  	
  return	
  l3	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  add_l4(_l4_class)	
  

	
  	
  	
  	
  	
  	
  l4	
  =	
  	
  add_child(_l4_class.new(self),	
  L4)	
  

	
  	
  	
  	
  	
  	
  @l4[_l4_class]	
  =	
  l4	
  

	
  	
  	
  	
  	
  	
  return	
  l4	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  add_app(_app_class,	
  _opt	
  =	
  {})	
  

	
  	
  	
  	
  	
  	
  app	
  =	
  add_child(_app_class.new(self,	
  _opt),	
  Application)	
  

	
  	
  	
  	
  	
  	
  @app[_app_class]	
  =	
  app	
  

	
  	
  	
  	
  	
  	
  return	
  app	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  default	
  interface	
  address	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  ip()	
  

	
  	
  	
  	
  	
  	
  ipaddr	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @inf.keys.sort.each	
  do	
  |inf_name|	
  

	
  	
  	
  	
  	
  	
  	
  	
  inf	
  =	
  @inf[inf_name]	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  inf.connected?	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ipaddr	
  =	
  inf.ipaddr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  ipaddr	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  is_my_ip?(_addr)	
  

	
  	
  	
  	
  	
  	
  RNS.type_check(_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  each_interface	
  do	
  |inf|	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  true	
  if	
  inf.ipaddr	
  ==	
  _addr	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  false	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  router?()	
  

	
  	
  	
  	
  	
  	
  @router	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  CLASS	
  Network	
  Interface	
  

	
  	
  ##############################################################################	
  

	
  	
  class	
  Interface	
  



 B.8 

	
  

	
  	
  	
  	
  include	
  SimUnit	
  

	
  

	
  	
  	
  	
  class	
  InterfaceAlreadyConnected	
  <	
  Error;	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  initialize	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  initialize(_parent,	
  _inf_num)	
  

	
  	
  	
  	
  	
  	
  super(_parent,	
  "#{_parent.name}:eth#{sprintf('%02d',_inf_num)}",	
  'IF')	
  

	
  	
  	
  	
  	
  	
  @inf_num	
  =	
  _inf_num.to_i	
  

	
  	
  	
  	
  	
  	
  @mac	
  =	
  MacAddress.new()	
  

	
  	
  	
  	
  	
  	
  @ipaddr	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @network	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @queue	
  =	
  []	
  

	
  	
  	
  	
  	
  	
  @max_threshold	
  =	
  100	
  

	
  	
  	
  	
  	
  	
  @min_threshold	
  =	
  75	
  

	
  	
  	
  	
  	
  	
  @drop_probability	
  =	
  0.5	
  

	
  	
  	
  	
  	
  	
  @queue_size_hist	
  =	
  []	
  

	
  	
  	
  	
  	
  	
  @queue_size_hist_size	
  =	
  20	
  

	
  	
  	
  	
  	
  	
  @l2_type	
  =	
  L2::Ethernet	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  attr_reader	
  :inf_num,	
  :ipaddr,	
  :mac,	
  :network	
  

	
  

	
  	
  	
  	
  def	
  action()	
  

	
  	
  	
  	
  	
  	
  if	
  @queue.empty?	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  dst_mac	
  =	
  @queue[0]['header'].dst_mac	
  

	
  	
  	
  	
  	
  	
  	
  	
  next_count	
  =	
  @network.usage(dst_mac)	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("check	
  #{@network.uid}	
  usage	
  #{next_count}")	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  next_count.nil?	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("send	
  #{@queue[0].pid}	
  to	
  #{@network.uid}")	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  next_count	
  =	
  @network.put(@queue.shift,	
  dst_mac)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  next_count	
  if	
  @next_my_count	
  <	
  next_count	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  connecting	
  network	
  ?	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  connected?()	
  

	
  	
  	
  	
  	
  	
  !	
  @network.nil?	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  connect	
  netowrk	
  to	
  interface	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  connect_network(_network)	
  

	
  	
  	
  	
  	
  	
  raise	
  InterfaceAlreadyConnected	
  if	
  connected?()	
  

	
  	
  	
  	
  	
  	
  @network	
  =	
  _network	
  

	
  	
  	
  	
  	
  	
  tmp	
  =	
  @mac.address.split(/:/).insert(3,	
  'ff',	
  'fe')	
  

	
  	
  	
  	
  	
  	
  tmp[0]	
  =	
  (tmp[0].hex	
  ^	
  2).to_s(16)	
  

	
  	
  	
  	
  	
  	
  interface_id	
  =	
  IPAddr.new("::#{tmp[0]}#{tmp[1]}:#{tmp[2]}#{tmp[3]}:#{tmp[4]}#{tmp[5]}:#{tmp[6]}#{tmp[7]}/128")	
  

	
  	
  	
  	
  	
  	
  @ipaddr	
  =	
  interface_id	
  |	
  @network.netmask	
  

	
  	
  	
  	
  	
  	
  @network.add_inf(self)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  disconnect	
  network	
  from	
  interface	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  disconnect_network()	
  

	
  	
  	
  	
  	
  	
  if	
  connected?()	
  then	
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  @network.remove_inf(self)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @network	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  @ipaddr	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  add_output_queue(_packet)	
  

	
  	
  	
  	
  	
  	
  RNS.type_check(_packet,	
  L2::DataSet)	
  

	
  	
  	
  	
  	
  	
  _drop	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  _avg_queue_size	
  =	
  avg_queue_size()	
  

	
  	
  	
  	
  	
  	
  if	
  node.router?	
  &&	
  _avg_queue_size	
  &&	
  _avg_queue_size	
  >	
  @min_threshold	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  _drop_threshold	
  =	
  (_avg_queue_size	
  >	
  @max_threshold	
  ?	
  1.0	
  :	
  (_avg_queue_size	
  -­‐	
  @min_threshold)	
  *	
  @drop_probability	
  /	
  

(@max_threshold	
  -­‐	
  @min_threshold))	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  rand()	
  <	
  _drop_threshold	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _drop	
  =	
  true	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("drop	
  packet	
  #{_packet.pid}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  @queue	
  <<	
  _packet	
  unless	
  _drop	
  

	
  	
  	
  	
  	
  	
  logging("queue	
  size	
  #{@queue.size}",	
  Sim::LOG_DEBUG)	
  

	
  	
  	
  	
  	
  	
  @queue_size_hist	
  <<	
  @queue.size	
  

	
  	
  	
  	
  	
  	
  while	
  @queue_size_hist.size	
  >	
  @queue_size_hist_size	
  do	
  

	
  	
  	
  	
  	
  	
  	
  	
  @queue_size_hist.shift	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  if	
  @next_my_count.nil?	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  Sim::Mgr.count	
  +	
  1	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  

	
  	
  	
  	
  def	
  avg_queue_size()	
  

	
  	
  	
  	
  	
  	
  return	
  nil	
  if	
  @queue_size_hist.size	
  <	
  @queue_size_hist_size	
  

	
  	
  	
  	
  	
  	
  _total	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  _count	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  @queue_size_hist.each_index	
  do	
  |_index|	
  

	
  	
  	
  	
  	
  	
  	
  	
  _count	
  +=	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  _total	
  +=	
  @queue_size_hist[_index]	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  (_total.to_f	
  /	
  _count).ceil	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  	
  	
  RNS.type_check(_packet,	
  L2::DataSet)	
  

	
  	
  	
  	
  	
  	
  node.l2[_packet.class::TYPE].input(_packet)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  parent	
  node	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  node()	
  

	
  	
  	
  	
  	
  	
  @parent	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  convert	
  to	
  one	
  line	
  style	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  to_line()	
  

	
  	
  	
  	
  	
  	
  [super().chomp,	
  @mac,	
  @ipaddr].join('	
  	
  ')	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  CLASS	
  Mac	
  Address(Phisical	
  Address)	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  MacAddress	
  

	
  

	
  	
  	
  	
  	
  	
  include	
  BitData	
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  MAC_TABLE	
  =	
  []	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  initialize	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_vender_code	
  =	
  '00:00:00')	
  

	
  	
  	
  	
  	
  	
  	
  	
  @vender_code	
  =	
  _vender_code.downcase	
  

	
  	
  	
  	
  	
  	
  	
  	
  raise	
  IllegalDataType,	
  "Illegal	
  vender	
  code	
  #{@vender_code}"	
  unless	
  @vender_code	
  =~	
  

/^[0-­‐9a-­‐f][0-­‐9a-­‐f]:[0-­‐9a-­‐f][0-­‐9a-­‐f]:[0-­‐9a-­‐f][0-­‐9a-­‐f]$/	
  

	
  	
  	
  	
  	
  	
  	
  	
  begin	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  =	
  ''	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  rand(16).to_s(16)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  rand(16).to_s(16)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  ':'	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  rand(16).to_s(16)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  rand(16).to_s(16)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  ':'	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  rand(16).to_s(16)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @interface_id	
  <<	
  rand(16).to_s(16)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  raise	
  ObjectAlreadyExist	
  if	
  MAC_TABLE.include?(address())	
  

	
  	
  	
  	
  	
  	
  	
  	
  rescue	
  ObjectAlreadyExist	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  retry	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  MAC_TABLE	
  <<	
  address()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  mac	
  address	
  by	
  :	
  separated	
  string	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  address()	
  

	
  	
  	
  	
  	
  	
  	
  	
  "#{@vender_code}:#{@interface_id}"	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  mac	
  address	
  by	
  6	
  octets	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  oct()	
  

	
  	
  	
  	
  	
  	
  	
  	
  address.split(/:/).map!	
  {	
  |hex|	
  hex.hex}	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  size	
  by	
  bit	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  6	
  *	
  8	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  convert	
  to	
  string	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  to_s	
  

	
  	
  	
  	
  	
  	
  	
  	
  address()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  CLASS	
  Network	
  

	
  	
  ##############################################################################	
  

	
  	
  class	
  Network	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
  



 B.11 

	
  

	
  	
  	
  	
  NETWORK_ID	
  =	
  []	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  initialize	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  initialize(_parent,	
  _name,	
  _bandwidth	
  =	
  100)	
  

	
  	
  	
  	
  	
  	
  @bandwidth	
  =	
  _bandwidth.to_i	
  

	
  	
  	
  	
  	
  	
  begin	
  

	
  	
  	
  	
  	
  	
  	
  	
  @nid	
  =	
  rand(2**16).to_s(16)	
  

	
  	
  	
  	
  	
  	
  	
  	
  raise	
  ObjectAlreadyExist.new("Network	
  #{@nid}	
  is	
  already	
  exists.")	
  if	
  NETWORK_ID.include?(@nid)	
  

	
  	
  	
  	
  	
  	
  rescue	
  ObjectAlreadyExist	
  

	
  	
  	
  	
  	
  	
  	
  	
  retry	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  NETWORK_ID	
  <<	
  @nid	
  

	
  	
  	
  	
  	
  	
  @netmask	
  =	
  IPAddr.new("2000:0:0:#{@nid}::/64")	
  

	
  	
  	
  	
  	
  	
  @connected_inf	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @arp_table	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  @data_line	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  super(_parent,	
  _name,	
  'NW')	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  attr_reader	
  :lid,	
  :netmask,	
  :bandwidth,	
  :arp_table,	
  :connected_inf	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  main	
  action	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  action()	
  

	
  	
  	
  	
  	
  	
  @data_line.keys.each	
  do	
  |dst_mac|	
  

	
  	
  	
  	
  	
  	
  	
  	
  next	
  if	
  @data_line[dst_mac][0]	
  >	
  Sim.now	
  

	
  	
  	
  	
  	
  	
  	
  	
  packet	
  =	
  @data_line[dst_mac][1]	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("send	
  #{packet.pid}	
  to	
  #{@connected_inf[dst_mac].uid}")	
  

	
  	
  	
  	
  	
  	
  	
  	
  @connected_inf[dst_mac].input(packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data_line.delete(dst_mac)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  count	
  =	
  min_count()	
  

	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  count	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  bandwidth	
  chane	
  event	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  call_chbw(_opt)	
  

	
  	
  	
  	
  	
  	
  bandwidth	
  =	
  _opt.shift	
  

	
  	
  	
  	
  	
  	
  set_bandwidth(bandwidth)	
  

	
  	
  	
  	
  	
  	
  logging("change	
  bandwidth	
  to	
  #{bandwidth}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  bandwidth	
  change	
  method	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  set_bandwidth(_bandwidth)	
  

	
  	
  	
  	
  	
  	
  raise	
  IllegalDataType	
  if	
  _bandwidth.to_i	
  ==	
  0	
  

	
  	
  	
  	
  	
  	
  @bandwidth	
  =	
  _bandwidth.to_i	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  get	
  minimum	
  count	
  of	
  all	
  data	
  lines	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  min_count()	
  

	
  	
  	
  	
  	
  	
  count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  @data_line.keys.each	
  do	
  |_dst_mac|	
  

	
  	
  	
  	
  	
  	
  	
  	
  count	
  =	
  @data_line[_dst_mac][0]	
  if	
  count.nil?	
  ||	
  count	
  >	
  @data_line[_dst_mac][0]	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  count	
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  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  what	
  time	
  can	
  data	
  line	
  be	
  used	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  usage(_dst_mac)	
  

	
  	
  	
  	
  	
  	
  @data_line[_dst_mac].nil?	
  ?	
  nil	
  :	
  @data_line[_dst_mac][0]	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  add	
  interface	
  to	
  network	
  table	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  add_inf(_nif)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @connected_inf[_nif.mac]	
  =	
  _nif	
  

	
  	
  	
  	
  	
  	
  	
  	
  @arp_table[_nif.ipaddr]	
  =	
  _nif.mac	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  remove	
  interface	
  from	
  network	
  table	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  remove_inf(_nif)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @connected_inf.delete(_nif.mac)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @arp_table.delete(_nif.ipaddr)	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  put	
  packet	
  on	
  network	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  put(_packet,	
  _dst_mac)	
  

	
  	
  	
  	
  	
  	
  raise	
  ''	
  unless	
  @data_line[_dst_mac].nil?	
  

	
  	
  	
  	
  	
  	
  send_count	
  =	
  Sim.now	
  +	
  calc_send_count(_packet.bit_size)	
  

	
  	
  	
  	
  	
  	
  @data_line[_dst_mac]	
  =	
  [send_count,	
  _packet]	
  

	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  min_count()	
  

	
  	
  	
  	
  	
  	
  ret	
  =	
  Sim.now	
  +	
  calc_send_count(_packet.bit_size	
  +	
  96)	
  

	
  	
  	
  	
  	
  	
  return	
  ret	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  time	
  count	
  to	
  send	
  data	
  with	
  specific	
  size	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  calc_send_count(_bit)	
  

	
  	
  	
  	
  	
  	
  send_count	
  =	
  _bit.to_f	
  *	
  Sim::Mgr.granularity	
  /	
  (@bandwidth	
  *	
  1024	
  *	
  1024)	
  

	
  	
  	
  	
  	
  	
  send_count.to_i	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  convert	
  to	
  one	
  line	
  style	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  to_line()	
  

	
  	
  	
  	
  	
  	
  line	
  =	
  super().chomp	
  +	
  '	
  	
  '	
  +	
  @netmask.to_s	
  +	
  '	
  	
  '	
  

	
  	
  	
  	
  	
  	
  @connected_inf.keys.sort{|a,b|	
  a.address	
  <=>	
  b.address}.each	
  do	
  |mac|	
  

	
  	
  	
  	
  	
  	
  	
  	
  line	
  <<	
  '	
  	
  '	
  +	
  @connected_inf[mac].node.uid	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  return	
  line	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  TCP/IP	
  Link	
  Layer	
  2	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  L2	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
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  CODE	
  =	
  {L2	
  =>	
  'L2M'}	
  

	
  

	
  	
  	
  	
  def	
  initialize(_parent)	
  

	
  	
  	
  	
  	
  	
  super(_parent,	
  "#{_parent.name}:#{L2::CODE[self.class]}",	
  'L2')	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  parent	
  of	
  L2	
  module	
  is	
  Node	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  def	
  node()	
  

	
  	
  	
  	
  	
  	
  @parent	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  MODULE	
  Data	
  format	
  for	
  Link	
  Layer	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  module	
  DataSet	
  

	
  	
  	
  	
  	
  	
  include	
  DataCapsule	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  pid()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data['data'].pid	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  l3packet()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data['data']	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  l4packet()	
  

	
  	
  	
  	
  	
  	
  	
  	
  l3packet['data']	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  app_data()	
  

	
  	
  	
  	
  	
  	
  	
  	
  l4packet['data']	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  CLASS	
  Ethernet	
  Protocol	
  Stack	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  Ethernet	
  

	
  

	
  	
  	
  	
  	
  	
  include	
  L2	
  

	
  

	
  	
  	
  	
  	
  	
  L2::CODE[Ethernet]	
  =	
  'ETH'	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  make	
  new	
  Ethernet	
  packet(frame)	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  new_packet(_inf,	
  _addr,	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  src_mac	
  =	
  _inf.mac	
  

	
  	
  	
  	
  	
  	
  	
  	
  dst_mac	
  =	
  _inf.network.arp_table[_addr]	
  

	
  	
  	
  	
  	
  	
  	
  	
  Packet.new(src_mac,	
  dst_mac,	
  _data)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  input	
  packet	
  and	
  push	
  it	
  up	
  tu	
  L3	
  

	
  	
  	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  l3p	
  =	
  _packet.l3packet	
  

	
  	
  	
  	
  	
  	
  	
  	
  node.l3[l3p.class::TYPE].input(_packet)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  CLASS	
  Ethernet	
  Data	
  Packet(frame)	
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  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  class	
  Packet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  include	
  DataSet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  TYPE	
  =	
  Ethernet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  object	
  initialize	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_src_mac,	
  _dst_mac,	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  super()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('header',	
  Header.new(_src_mac,	
  _dst_mac))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('data',	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('footer',	
  CapsuledData.new(nil,	
  32))	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  attr_reader	
  :l3_packet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  CLASS	
  Ethernet	
  Frame	
  Header	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  class	
  Header	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  include	
  BitData	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ######################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  object	
  initialize	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ######################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_src_mac,	
  _dst_mac)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @src_mac	
  =	
  RNS.type_check(_src_mac,	
  Interface::MacAddress)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @dst_mac	
  =	
  RNS.type_check(_dst_mac,	
  Interface::MacAddress)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  attr_reader	
  :src_mac,	
  :dst_mac	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  176	
  #	
  22oct	
  =	
  8oct(preamble)	
  +	
  6oct(source)	
  +	
  6oct(destination)	
  +	
  2oct(type/size)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  TCP/IP	
  Internet	
  Layer	
  (Network	
  Layer)	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  L3	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
  

	
  

	
  	
  	
  	
  CODE	
  =	
  {L3	
  =>	
  'L3M'}	
  

	
  

	
  	
  	
  	
  def	
  initialize(_parent)	
  

	
  	
  	
  	
  	
  	
  super(_parent,	
  "#{_parent.name}:#{L3::CODE[self.class]}",	
  'L3')	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  node()	
  

	
  	
  	
  	
  	
  	
  @parent	
  

	
  	
  	
  	
  end	
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  ############################################################################	
  

	
  	
  	
  	
  #	
  MODULE	
  Data	
  format	
  for	
  Internet	
  Layer	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  module	
  DataSet	
  

	
  	
  	
  	
  	
  	
  include	
  DataCapsule	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  pid()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data['data'].pid	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  class	
  RoutingTable	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  RoutingTable.set_routing_table(_sim)	
  

	
  	
  	
  	
  	
  	
  	
  	
  _sim.each_node	
  do	
  |node|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  node.each_interface	
  do	
  |inf|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  node.l3[L3::IPv6].routing_table.set_routing_info(inf.network,	
  RoutingInfo.new(inf,	
  0,	
  nil))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  RoutingTable.follow_routing_table_network(0,	
  inf,	
  node,	
  inf)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  RoutingTable.follow_routing_table_node(_hop,	
  _inf,	
  _start_node,	
  _start_inf,	
  _start_addr	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  node	
  =	
  _inf.parent	
  

	
  	
  	
  	
  	
  	
  	
  	
  _hop	
  +=	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  unless	
  node	
  ==	
  _start_node	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  node.each_interface	
  do	
  |inf|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  next	
  if	
  inf	
  ==	
  _inf	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  network	
  =	
  inf.network	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  routing_table	
  =	
  _start_node.l3[L3::IPv6].routing_table	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  !routing_table.routing_info.has_key?(network)	
  ||	
  routing_table.routing_info[network].hop	
  >	
  _hop	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  routing_table.set_routing_info(network,	
  RoutingInfo.new(_start_inf,	
  _hop,	
  _start_addr))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  RoutingTable.follow_routing_table_network(_hop,	
  inf,	
  _start_node,	
  _start_inf,	
  _start_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  RoutingTable.follow_routing_table_network(_hop,	
  _inf,	
  _start_node,	
  _start_inf,	
  _start_addr	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  network	
  =	
  _inf.network	
  

	
  	
  	
  	
  	
  	
  	
  	
  network.connected_inf.values.each	
  do	
  |inf|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  next	
  if	
  inf	
  ==	
  _inf	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  addr	
  =	
  _start_addr.nil?	
  ?	
  inf.ipaddr	
  :	
  _start_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  RoutingTable.follow_routing_table_node(_hop,	
  inf,	
  _start_node,	
  _start_inf,	
  addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  initialize()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @routing_info	
  =	
  Hash.new()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :routing_info	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_routing_info(_network,	
  _ri)	
  

	
  	
  	
  	
  	
  	
  	
  	
  network	
  =	
  RNS.type_check(_network,	
  Network)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @routing_info[network]	
  =	
  _ri	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  search_ri(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @routing_info.keys.sort{|a,b|	
  @routing_info[a].hop	
  <=>	
  @routing_info[b].hop}.each	
  do	
  |network|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  @routing_info[network]	
  if	
  network.netmask.include?(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  nil	
  

	
  	
  	
  	
  	
  	
  end	
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  def	
  search_inf(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  search_ri(_addr).inf	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  to_s()	
  

	
  	
  	
  	
  	
  	
  	
  	
  str	
  =	
  "[Routing	
  Table]¥n"	
  

	
  	
  	
  	
  	
  	
  	
  	
  @routing_info.keys.sort{|a,b|	
  @routing_info[a].hop	
  <=>	
  @routing_info[b].hop}.each	
  do	
  |network|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  str	
  <<	
  "#{network.name}¥t#{@routing_info[network]}¥n"	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  str	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  class	
  RoutingInfo	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_inf,	
  _hop,	
  _addr	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @inf	
  =	
  RNS.type_check(_inf,	
  Interface)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @hop	
  =	
  _hop.to_i	
  

	
  	
  	
  	
  	
  	
  	
  	
  @addr	
  =	
  _addr	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :hop,	
  :inf,	
  :addr	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  to_s()	
  

	
  	
  	
  	
  	
  	
  	
  	
  "#{@hop}¥t#{@inf.uid}¥t#{@addr}"	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  CLASS	
  IPv6	
  Protocol	
  Stack	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  IPv6	
  

	
  

	
  	
  	
  	
  	
  	
  include	
  L3	
  

	
  

	
  	
  	
  	
  	
  	
  L3::CODE[IPv6]	
  =	
  'V6'	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_parent)	
  

	
  	
  	
  	
  	
  	
  	
  	
  super(_parent)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @routing_table	
  =	
  RoutingTable.new()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  new_packet(_src_addr,	
  _dst_addr,	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  _src_addr.nil?	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _src_addr	
  =	
  routing_table.search_inf(_dst_addr).ipaddr	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  Packet.new(_src_addr,	
  _dst_addr,	
  _data)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  l3p	
  =	
  _packet.l3packet	
  

	
  	
  	
  	
  	
  	
  	
  	
  begin	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  dst_addr	
  =	
  l3p['header']['basic'].dst_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  node.is_my_ip?(dst_addr)	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  l3p['header']['routing'].class.proc_routing_header(l3p)	
  if	
  	
  l3p['header'].has_key?('routing')	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("receive	
  #{_packet.pid}	
  from	
  #{l3p['header']['basic'].src_addr}")	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  node.l4[_packet.l4packet.class::TYPE].input(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ri	
  =	
  @routing_table.search_ri(dst_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  next_addr	
  =	
  ri.addr.nil?	
  ?	
  dst_addr	
  :	
  ri.addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ri.inf.add_output_queue(node.l2[L2::Ethernet].new_packet(ri.inf,	
  next_addr,	
  l3p))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("forward	
  #{_packet.pid}	
  to	
  #{ri.inf.uid}")	
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  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  rescue	
  Packet::Header::Routing::RelayNodeForwarding	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("forward	
  #{_packet.pid}	
  by	
  RoutingHeader")	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  retry	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :routing_table	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  CLASS	
  IPv6	
  Packet	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  class	
  Packet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  include	
  DataSet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  TYPE	
  =	
  IPv6	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_src_addr,	
  _dst_addr,	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  super()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('header',	
  Header.new(_src_addr,	
  _dst_addr))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('data',	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_src_addr(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @data['header']['basic'].set_src_addr(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  CLASS	
  IPv6	
  Headers	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  class	
  Header	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  include	
  DataCapsule	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_src_addr,	
  _dst_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  super()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('basic',	
  Basic.new(_src_addr,	
  _dst_addr))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ######################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  CLASS	
  IPv6	
  Basic	
  Header	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ######################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  class	
  Basic	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  include	
  BitData	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_src_addr,	
  _dst_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @version	
  =	
  6	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @traffic_class	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @flow_label	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @payload_length	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @next_header	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @hop_limit	
  =	
  255	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @src_addr	
  =	
  RNS.type_check(_src_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @dst_addr	
  =	
  RNS.type_check(_dst_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  attr_reader	
  :src_addr,	
  :dst_addr,	
  :hop_limit	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_dst_addr(_dst_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @dst_addr	
  =	
  RNS.type_check(_dst_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
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  def	
  set_src_addr(_src_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @src_addr	
  =	
  RNS.type_check(_src_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  40	
  *	
  8	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ######################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  CLASS	
  IPv6	
  Routing	
  Header	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ######################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  module	
  Routing	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  class	
  RelayNodeForwarding	
  <	
  Error;	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  include	
  DataCapsule	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  super()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('common',	
  CapsuledData.new(nil,	
  64))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @next_header	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @header_length	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @segment_left	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @routing_type	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  attr_reader	
  :segment_left	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_segment_left(_segment_left)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @segment_left	
  =	
  _segment_left.to_i	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ####################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  CLASS	
  IPv6	
  Routing	
  Header	
  Type0	
  Custom	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  Type0	
  routing	
  header	
  with	
  following	
  limitations	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  	
  	
  *	
  Loose	
  souce	
  routing	
  only	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  	
  	
  *	
  One	
  relay	
  node	
  only	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  	
  	
  *	
  Segment	
  Left	
  has	
  only	
  two	
  value,	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  	
  	
  	
  	
  0(already	
  relayed)	
  or	
  1	
  (not	
  relayed	
  yet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ####################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  class	
  Type0C	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  include	
  Routing	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  Type0C.set_routing_header(_v6header,	
  _relay_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  RNS.type_check(_v6header,	
  Header)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  RNS.type_check(_relay_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  rthdr	
  =	
  Type0C.new()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  raise	
  IllegalTarget,	
  "IPv6	
  header	
  already	
  has	
  routing	
  header"	
  unless	
  _v6header['routing'].nil?	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _v6header['routing']	
  =	
  rthdr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  rthdr['type_specific']	
  =	
  _v6header['basic'].dst_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _v6header['basic'].set_dst_addr(_relay_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  Type0C.proc_routing_header(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  RNS.type_check(_packet,	
  L3::IPv6::Packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  rthdr	
  =	
  RNS.type_check(_packet['header']['routing'],	
  self)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  rthdr.segment_left	
  >	
  0	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  relay_addr	
  =	
  _packet['header']['basic'].dst_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _packet['header']['basic'].set_dst_addr(rthdr['type_specific'])	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  rthdr['type_specific']	
  =	
  relay_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  rthdr.set_segment_left(0)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  raise	
  RelayNodeForwarding	
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  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  super()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @routing_type	
  =	
  '0C'	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @header_length	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @segment_left	
  =	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('type_specific',	
  '')	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  TCP/IP	
  Transport	
  Layer	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  L4	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
  

	
  

	
  	
  	
  	
  CODE	
  =	
  {L4	
  =>	
  'L4M'}	
  

	
  

	
  	
  	
  	
  def	
  initialize(_parent)	
  

	
  	
  	
  	
  	
  	
  super(_parent,	
  "#{_parent.name}:#{L4::CODE[self.class]}",	
  'L4')	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  MODULE	
  Data	
  format	
  for	
  Transport	
  Layer	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  module	
  DataSet	
  

	
  	
  	
  	
  	
  	
  include	
  DataCapsule	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  pid()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data['data'].pid	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  MODULE	
  UDP	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  UDP	
  

	
  

	
  	
  	
  	
  	
  	
  include	
  L4	
  

	
  

	
  	
  	
  	
  	
  	
  L4::CODE[UDP]	
  =	
  'UDP'	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_parent)	
  

	
  	
  	
  	
  	
  	
  	
  	
  super(_parent)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @socket	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  new_packet(_src_port,	
  _dst_port,	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  Packet.new(_src_port,	
  _dst_port,	
  _data)	
  

	
  	
  	
  	
  	
  	
  end	
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  def	
  open_socket(_port,	
  _socket)	
  

	
  	
  	
  	
  	
  	
  	
  	
  raise	
  "Port	
  #{_port}	
  already	
  binded	
  to	
  Socket"	
  if	
  @socket.has_key?(_port)	
  

	
  	
  	
  	
  	
  	
  	
  	
  raise	
  "Socket	
  #{_socket.name}	
  already	
  binded	
  to	
  Port"	
  if	
  @socket.has_value?(_socket)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @socket[_port.to_i]	
  =	
  _socket	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  get_empty_port()	
  

	
  	
  	
  	
  	
  	
  	
  	
  port	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  begin	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  port	
  =	
  rand(7001)	
  +	
  10000	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  raise	
  if	
  @socket.has_key?(port)	
  

	
  	
  	
  	
  	
  	
  	
  	
  rescue	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  retry	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  port	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  l4p	
  =	
  _packet.l4packet	
  

	
  	
  	
  	
  	
  	
  	
  	
  dst_port	
  =	
  l4p['header'].dst_port	
  

	
  	
  	
  	
  	
  	
  	
  	
  socket	
  =	
  @socket[dst_port.to_i]	
  

	
  	
  	
  	
  	
  	
  	
  	
  socket.input(_packet)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  CLASS	
  UDP	
  Packet	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  class	
  Packet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  include	
  DataSet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  TYPE	
  =	
  UDP	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_src_port,	
  _dest_port,	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  super()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('header',	
  Header.new(_src_port,	
  _dest_port))	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  add_data('data',	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  header.set_length(data.bit_size())	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  header()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @data['header']	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  data()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @data['data']	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  CLASS	
  UDP	
  Header	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  class	
  Header	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  include	
  BitData	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_src_port,	
  _dst_port)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @src_port	
  =	
  _src_port	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @dst_port	
  =	
  _dst_port	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @length	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  attr_reader	
  :src_port,	
  :dst_port,	
  :length	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_length(_length)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @length	
  =	
  _length.to_i	
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  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  64	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  Network	
  Socket	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  Socket	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
  

	
  

	
  	
  	
  	
  def	
  initialize(_parent,	
  _name)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @l2	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  @l3	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  @l4	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  super(_parent,	
  _name,	
  "SC")	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  class	
  UDPv6Socket	
  

	
  

	
  	
  	
  	
  	
  	
  include	
  Socket	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_parent,	
  _name,	
  _src_port	
  =	
  nil,	
  _src_addr	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  super(_parent,	
  _name)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @l2	
  =	
  L2::Ethernet	
  

	
  	
  	
  	
  	
  	
  	
  	
  @l3	
  =	
  L3::IPv6	
  

	
  	
  	
  	
  	
  	
  	
  	
  @l4	
  =	
  L4::UDP	
  

	
  	
  	
  	
  	
  	
  	
  	
  @src_addr	
  =	
  _src_addr.nil?	
  ?	
  nil	
  :	
  RNS.type_check(_dst_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @src_port	
  =	
  set_port(_src_port)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  app()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @parent	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  node()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @parent.parent	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  open()	
  

	
  	
  	
  	
  	
  	
  	
  	
  node.l4[@l4].open_socket(@src_port,	
  self)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_relay_addr(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @relay_addr	
  =	
  RNS.type_check(_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  bind_addr(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @src_addr	
  =	
  RNS.type_check(_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_port(_port	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @src_port	
  =	
  _port.nil?	
  ?	
  node.l4[@l4].get_empty_port()	
  :	
  _port.to_i	
  

	
  	
  	
  	
  	
  	
  end	
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  def	
  set_relay_addr(_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @relay_addr	
  =	
  RNS.type_check(_addr,	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  make_new_packet(_data,	
  _dst_port,	
  _dst_addr,	
  _relay_addr	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  l4p	
  =	
  node.l4[@l4].new_packet(@src_port,	
  _dst_port,	
  _data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  l3p	
  =	
  node.l3[@l3].new_packet(@src_addr,	
  _dst_addr,	
  l4p)	
  

	
  	
  	
  	
  	
  	
  	
  	
  L3::IPv6::Packet::Header::Routing::Type0C.set_routing_header(l3p['header'],	
  _relay_addr)	
  unless	
  _relay_addr.nil?	
  

	
  	
  	
  	
  	
  	
  	
  	
  ri	
  =	
  node.l3[@l3].routing_table.search_ri(_dst_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  next_addr	
  =	
  ri.addr.nil?	
  ?	
  _dst_addr	
  :	
  ri.addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  l2p	
  =	
  node.l2[@l2].new_packet(ri.inf,	
  next_addr,	
  l3p)	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  l2p	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  send_reply(_data,	
  _packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  l3p	
  =	
  _packet.l3packet	
  

	
  	
  	
  	
  	
  	
  	
  	
  dst_addr	
  =	
  l3p['header']['basic'].src_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  relay_addr	
  =	
  l3p['header'].has_key?('routing')	
  ?	
  l3p['header']['routing']['type_specific']	
  :	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  dst_port	
  =	
  _packet.l4packet['header'].src_port	
  

	
  	
  	
  	
  	
  	
  	
  	
  packet	
  =	
  make_new_packet(_data,	
  dst_port,	
  dst_addr,	
  relay_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  send_packet(packet)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  send(_data,	
  _dst_port,	
  _dst_addr,	
  _relay_addr	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  packet	
  =	
  make_new_packet(_data,	
  _dst_port,	
  _dst_addr,	
  _relay_addr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  send_packet(packet)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  send_packet(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  RNS.type_check(_packet,	
  L2::DataSet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  dst_addr	
  =	
  _packet.l3packet['header']['basic'].dst_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  inf	
  =	
  node.l3[@l3].routing_table.search_ri(dst_addr).inf	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("send	
  #{_packet.pid}	
  to	
  #{inf.uid}",	
  Sim::LOG_INFO)	
  

	
  	
  	
  	
  	
  	
  	
  	
  inf.add_output_queue(_packet)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  app.input(_packet)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  to_line()	
  

	
  	
  	
  	
  	
  	
  	
  	
  "#{@uid}¥t#{@src_port}¥t#{@src_addr}"	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  end	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  MODULE	
  TCP/IP	
  Application	
  Layer	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  Application	
  

	
  

	
  	
  	
  	
  include	
  SimUnit	
  

	
  

	
  	
  	
  	
  CODE	
  =	
  {Application	
  =>	
  'APP'}	
  

	
  

	
  	
  	
  	
  def	
  initialize(_parent)	
  

	
  	
  	
  	
  	
  	
  super(_parent,	
  "#{_parent.name}:#{Application::CODE[self.class]}",	
  "AP")	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  end	
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  end	
  

	
  

end	
  

	
  

################################################################################	
  

#	
  Add	
  size	
  attribute	
  to	
  IPAddr	
  object	
  

################################################################################	
  

class	
  IPAddr	
  

	
  

	
  	
  include	
  RNS::BitData	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  size	
  by	
  bit	
  

	
  	
  ##############################################################################	
  

	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  s	
  =	
  0	
  

	
  	
  	
  	
  s	
  =	
  32	
  if	
  self.ipv4?	
  

	
  	
  	
  	
  s	
  =	
  128	
  if	
  self.ipv6?	
  

	
  	
  	
  	
  return	
  s	
  

	
  	
  end	
  

	
  

end	
  

	
  

################################################################################	
  

#	
  Add	
  size	
  attribute	
  to	
  String	
  object	
  

################################################################################	
  

class	
  String	
  

	
  

	
  	
  include	
  RNS::BitData	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  size	
  by	
  bit	
  

	
  	
  ##############################################################################	
  

	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  size()	
  *	
  8	
  

	
  	
  end	
  

	
  

end	
  

	
  

################################################################################	
  

#	
  load	
  Application	
  files	
  

################################################################################	
  

Dir.glob(File.dirname(__FILE__)	
  +	
  '/Application/*.rb').each	
  do	
  |appfile|	
  

	
  	
  require	
  appfile	
  

end	
  

	
  

	
  

 SMPC (smpc.rb) 
	
  

module	
  RNS	
  

	
  

	
  	
  ##############################################################################	
  

	
  	
  #	
  Namespace	
  for	
  Multi-­‐Path	
  communication	
  

	
  	
  #	
  save	
  last	
  transmit	
  success/fail	
  flag	
  

	
  	
  #	
  reimplement	
  old	
  SMPC-­‐P	
  

	
  	
  ##############################################################################	
  

	
  	
  module	
  SMPCP13	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  CLASS	
  Multi-­‐Path	
  Sender	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  Sender	
  

	
  	
  	
  

	
  	
  	
  	
  	
  	
  include	
  Application	
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  Application::CODE[Sender]	
  =	
  'MPS'	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  object	
  initialzie	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_parent,	
  _opt	
  =	
  {})	
  

	
  	
  	
  	
  	
  	
  	
  	
  super(_parent)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @dst_addr	
  =	
  RNS.type_check(_opt['mp_dst_addr'],	
  IPAddr)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @dst_port	
  =	
  _opt.has_key?('mp_dst_port')	
  ?	
  _opt['mp_dst_port'].to_i	
  :	
  8888	
  

	
  	
  	
  	
  	
  	
  	
  	
  @socket	
  =	
  add_child(Socket::UDPv6Socket.new(self,	
  @name,	
  8888)	
  ,Socket)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @socket.open()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @bw_unit	
  =	
  _opt.has_key?('mp_bw_unit')	
  ?	
  _opt['mp_bw_unit'].to_f	
  :	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  @platform	
  =	
  []	
  

	
  	
  	
  	
  	
  	
  	
  	
  @relay_addr	
  =	
  []	
  

	
  	
  	
  	
  	
  	
  	
  	
  add_route(nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @packet_count	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data_size_unit	
  =	
  1024	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_id	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_count	
  =	
  _opt.has_key?('mp_train_count')	
  ?	
  _opt['mp_train_count'].to_i	
  :	
  16	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_status	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  	
  	
  @sent_data_size	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @max_size	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @threshold_delay	
  =	
  0.95	
  

	
  	
  	
  	
  	
  	
  	
  	
  @threshold_abnormal	
  =	
  1.05	
  

	
  	
  	
  	
  	
  	
  	
  	
  @fix_desired_throughput	
  =	
  _opt.has_key?('mp_desired_throughput')	
  ?	
  _opt['mp_desired_throughput'].to_i	
  :	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  @desired_throughput	
  =	
  @fix_desired_throughput	
  ||	
  (1.0	
  /	
  0.0)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist	
  =	
  [0]	
  

	
  	
  	
  	
  	
  	
  	
  	
  @avg_hist	
  =	
  [0]	
  

	
  	
  	
  	
  	
  	
  	
  	
  @avg_bw	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @status_hist	
  =	
  [0]	
  

	
  	
  	
  	
  	
  	
  	
  	
  @continuous_success	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist_size	
  =	
  _opt.has_key?('mp_bw_hist_size')	
  ?	
  _opt['mp_bw_hist_size'].to_i	
  :	
  20	
  

	
  	
  	
  	
  	
  	
  	
  	
  @stable_threshold	
  =	
  _opt.has_key?('mp_stable_threshold')	
  ?	
  _opt['mp_stable_threshold'].to_f	
  :	
  3.0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @force_down_rate	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  	
  	
  @force_down_rate[:success]	
  =	
  _opt.has_key?('mp_success_down_rate')	
  ?	
  _opt['mp_success_down_rate'].to_i	
  :	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @force_down_rate[:delay]	
  =	
  _opt.has_key?('mp_delay_down_rate')	
  ?	
  _opt['mp_delay_down_rate'].to_i	
  :	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  @force_down_rate[:loss]	
  =	
  _opt.has_key?('mp_loss_down_rate')	
  ?	
  _opt['mp_loss_down_rate'].to_i	
  :	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  @force_down_rate[:abnormal]	
  =	
  _opt.has_key?('mp_abnormal_down_rate')	
  ?	
  _opt['mp_abnormal_down_rate'].to_i	
  :	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @path_unfair	
  =	
  _opt.has_key?('mp_path_unfair')	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :data_size_unit	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :dst_port	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :dst_addr	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :sent_data_size	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :train_count	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :bw_unit	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :socket	
  

	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  def	
  conf_str()	
  

	
  	
  	
  	
  	
  	
  	
  	
  _str	
  =	
  

"_DR#{@force_down_rate[:success]}-­‐#{@force_down_rate[:delay]}-­‐#{@force_down_rate[:loss]}-­‐#{@force_down_rate[:abnormal]}"	
  

	
  	
  	
  	
  	
  	
  	
  	
  _str	
  <<	
  "_BU#{@bw_unit}_TH#{@stable_threshold}"	
  

	
  	
  	
  	
  	
  	
  	
  	
  _str	
  <<	
  "_HS#{@bw_hist_size}_TC#{@train_count}"	
  

	
  	
  	
  	
  	
  	
  	
  	
  _str	
  <<	
  "_DB#{@fix_desired_throughput	
  ||	
  '-­‐VAL'}"	
  

	
  	
  	
  	
  	
  	
  	
  	
  _str	
  <<	
  "_UF"	
  if	
  @path_unfair	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  _str	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  def	
  is_active?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  !	
  @next_my_count.nil?	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  force_down(_route,	
  _speed)	
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  return	
  unless	
  _speed	
  >	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  path	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  _speed	
  =	
  _speed.to_i	
  

	
  	
  	
  	
  	
  	
  	
  	
  begin	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ind	
  =	
  @platform.size	
  -­‐	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  while	
  ind	
  >	
  _route	
  do	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  @platform[ind].bandwidth	
  >	
  @platform[ind].bw_unit	
  *	
  _speed	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  path	
  =	
  @platform[ind]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ind	
  -­‐=	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  unless	
  path.nil?	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _down_speed	
  =	
  @platform[ind].bw_unit	
  *	
  _speed	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("force	
  down	
  bandwidth	
  at	
  Path:#{path.route}	
  by	
  #{_down_speed}Mbps",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  path.shift_down(path.bandwidth	
  -­‐	
  _down_speed)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  avg_total_bw()	
  

	
  	
  	
  	
  	
  	
  	
  	
  _total_bw	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist.each	
  do	
  |_bw|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _total_bw	
  +=	
  _bw	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  _total_bw	
  /	
  @bw_hist.size	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  rcv	
  =	
  RNS.type_check(_packet.app_data,	
  Reply).status	
  

	
  	
  	
  	
  	
  	
  	
  	
  sent	
  =	
  @train_status[rcv.train_id]	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("receive	
  #{rcv.count}/#{sent.count}	
  patkets	
  with	
  #{sprintf('%.2f',	
  rcv.throughput)}/#{sprintf('%.2f',	
  

sent.throughput)}	
  Mbps	
  at	
  TRAIN:#{rcv.train_id}/Path#{rcv.route}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  transmitting	
  status	
  check	
  

	
  	
  	
  	
  	
  	
  	
  	
  _status	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  rcv.count	
  ==	
  sent.count	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  rate	
  =	
  rcv.throughput	
  /	
  sent.throughput	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  (rate	
  >	
  @threshold_abnormal)	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("found	
  abnormal	
  response	
  at	
  Path:#{rcv.route}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _status	
  =	
  :abnormal	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  elsif(rate	
  >	
  @threshold_delay)	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("found	
  no	
  congestion	
  at	
  Path:#{rcv.route}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _status	
  =	
  :success	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("found	
  congestion	
  at	
  Path:#{rcv.route}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _status	
  =	
  :delay	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("found	
  packet	
  loss	
  at	
  Path:#{rcv.route}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _status	
  =	
  :loss	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  priority	
  control	
  

	
  	
  	
  	
  	
  	
  	
  	
  _forced_down	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  _status	
  ==	
  :delay	
  ||	
  _status	
  ==	
  :loss	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  force	
  down	
  lower	
  path	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  unless	
  @platform[rcv.route	
  +	
  1].nil?	
  ||	
  total_bandwidth()	
  <	
  @desired_throughput	
  *	
  0.95	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  force_down(rcv.route,	
  @force_down_rate[_status])	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _forced_down	
  =	
  true	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  transmission	
  control	
  

	
  	
  	
  	
  	
  	
  	
  	
  @platform[rcv.route].set_receive_status(_status,	
  sent.throughput,	
  rcv.throughput,	
  _forced_down)	
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  #	
  calc	
  new	
  desired	
  throughput	
  

	
  	
  	
  	
  	
  	
  	
  	
  _total_bw	
  =	
  0.0	
  

	
  	
  	
  	
  	
  	
  	
  	
  begin	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @platform.each	
  do	
  |_platform|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _total_bw	
  +=	
  _platform.get_last_bw	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  rescue	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _total_bw	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  _total_bw	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("have	
  total	
  bandwidth	
  #{_total_bw}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _old_bw	
  =	
  @bw_hist[@bw_hist_size	
  -­‐	
  1].to_f	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist	
  =	
  @bw_hist.unshift(_total_bw)[0,@bw_hist_size]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @avg_bw	
  +=	
  (_total_bw	
  -­‐	
  _old_bw)	
  /	
  @bw_hist_size	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  @bw_hist.size	
  >=	
  @bw_hist_size	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @avg_hist	
  =	
  @avg_hist.unshift(@avg_bw)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("average	
  #{@avg_bw}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  @avg_hist.size	
  >	
  @bw_hist_size	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _avg_diff	
  =	
  (@avg_hist.first	
  -­‐	
  @avg_hist.last).abs	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("average-­‐diff	
  #{_avg_diff}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  @fix_desired_throughput.nil?	
  &&	
  _avg_diff	
  <	
  @stable_threshold	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @desired_throughput	
  =	
  @avg_bw	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("change	
  desired	
  throughput	
  to	
  #{@desired_throughput}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @avg_hist	
  =	
  @avg_hist[0,@bw_hist_size]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("ignore	
  consecutive	
  ACK	
  on	
  Path:#{rcv.route}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  post	
  process	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_status.delete(rcv.train_id)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  	
  @train_status.empty?	
  ?	
  nil	
  :	
  Sim.now	
  +	
  60	
  *	
  Sim::Mgr.granularity	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  def	
  total_bandwidth()	
  

	
  	
  	
  	
  	
  	
  	
  	
  bw	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @platform.each	
  do	
  |platform|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  bw	
  +=	
  platform.bandwidth	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  bw	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  action()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @platform.each	
  do	
  |platform|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  platform.finish_send()	
  if	
  platform.is_active?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("timed	
  out.",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  send_data(_data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("send	
  #{_data.pid}	
  to	
  Path#{_data.route}",	
  Sim::LOG_INFO)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @socket.send(_data,	
  @dst_port,	
  @dst_addr,	
  @relay_addr[_data.route])	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  def	
  set_desired_throughput(_throughput)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @desired_throughput	
  =	
  _throughput.to_i	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  rest_data_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @max_size	
  -­‐	
  sent_data_size	
  

	
  	
  	
  	
  	
  	
  end	
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  def	
  next_data_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  sent_finish?	
  ?	
  0	
  :	
  (rest_data_size	
  >	
  @data_size_unit)	
  ?	
  @data_size_unit	
  :	
  rest_data_size	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  make_new_data()	
  

	
  	
  	
  	
  	
  	
  	
  	
  size	
  =	
  next_data_size	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  nil	
  unless	
  size	
  >	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @sent_data_size	
  +=	
  size	
  

	
  	
  	
  	
  	
  	
  	
  	
  Data.new("PK:#{@name}:#{@packet_count	
  +=	
  1}",	
  '0'*size)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  event	
  for	
  testing	
  :	
  send	
  2	
  packet	
  to	
  specific	
  route	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  call_send_data(_opt)	
  

	
  	
  	
  	
  	
  	
  	
  	
  raise	
  unless	
  @max_size	
  ==	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  size	
  =	
  _opt.shift.to_f	
  

	
  	
  	
  	
  	
  	
  	
  	
  @max_size	
  =	
  (size	
  *	
  1024	
  *	
  1024).to_i	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("start	
  MultiPathSending	
  for	
  #{size}MB",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @platform.each	
  do	
  |platform|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  platform.start()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  next_train_id()	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  nil	
  if	
  sent_finish?	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_id	
  +=	
  1	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_train_status(_train_id,	
  _route)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_status[_train_id]	
  =	
  TrainData.new(_train_id,	
  _route)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  sent_finish?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  rest_data_size	
  <=	
  0	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  add	
  route	
  with	
  specific	
  relay	
  node	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  add_route(_relay_node)	
  

	
  	
  	
  	
  	
  	
  	
  	
  relay_addr	
  =	
  _relay_node.nil?	
  ?	
  nil	
  :	
  _relay_node.ip	
  

	
  	
  	
  	
  	
  	
  	
  	
  @relay_addr	
  <<	
  relay_addr	
  

	
  	
  	
  	
  	
  	
  	
  	
  @platform	
  <<	
  add_platform()	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  add_platform()	
  

	
  	
  	
  	
  	
  	
  	
  	
  pl	
  =	
  add_child(Platform.new(self,	
  @platform.size,	
  @path_unfair),	
  Platform)	
  

	
  	
  	
  	
  	
  	
  	
  	
  return	
  pl	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  generic	
  1	
  line	
  string	
  style	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  to_line()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @uid	
  +	
  "¥t"	
  +	
  	
  @relay_addr.join("¥t")	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  generic	
  1	
  line	
  string	
  style	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  class	
  Platform	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  include	
  SimUnit	
  



 B.28 

	
  

	
  	
  	
  	
  	
  	
  	
  	
  MODE_NORMAL	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  attr_reader	
  :treated	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  initialize(_parent,	
  _route,	
  _unfair	
  =	
  false)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  super(_parent,	
  "#{_parent.name}:#{_route}",	
  'PF')	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @shift	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @route	
  =	
  _route	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @current_pos	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @queue	
  =	
  []	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @wait_train	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @sending	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @wait	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @wait_init	
  =	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @train_status	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist	
  =	
  [0]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist_size	
  =	
  20	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @status_hist	
  =	
  [:success]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @local_bw_unit	
  =	
  @parent.bw_unit.to_f	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @local_bw_unit	
  /=	
  (2	
  **	
  @route.to_f)	
  if	
  _unfair	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @treated	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @continuous_success	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @last_success_bw	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  attr_reader	
  :route	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  bw_unit()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @local_bw_unit	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_received_bandwidth(_bw)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist	
  =	
  @bw_hist.unshift(_bw)[0,@bw_hist_size]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @treated	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  get_last_bw()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _bw	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  unless	
  @treated	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _bw	
  =	
  @bw_hist.first	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @treated	
  =	
  true	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  _bw	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_receive_status(_status,	
  _sent_bw,	
  _rcv_bw,	
  _forced_down)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  _status	
  ==	
  :success	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @continuous_success	
  +=	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @last_success_bw	
  =	
  _rcv_bw	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("continuous	
  success	
  #{@continuous_success}	
  /	
  last	
  success	
  bandwidth	
  #{@last_success_bw}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @continuous_success	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @status_hist	
  =	
  @status_hist.unshift(_status)[0,@bw_hist_size]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  _success_rate	
  =	
  status_rate()	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("transmit	
  success	
  rate	
  #{_success_rate}	
  in	
  last	
  #{@bw_hist_size}	
  trains",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_received_bandwidth(_rcv_bw)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  case	
  _status	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  when	
  :success	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  success_throughput(_sent_bw)	
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  when	
  :delay	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fail_throughput(_rcv_bw)	
  unless	
  _forced_down	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  when	
  :loss	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  loss_detected(_rcv_bw)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  when	
  :abnormal	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  abnormal_throughput(_sent_bw)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  status_rate(_target_status	
  =	
  :success)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  @status_hist.size	
  ==	
  @bw_hist_size	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  @status_hist.count(_target_status).to_f	
  /	
  @bw_hist_size	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_to_treat()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @treated	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  treat()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @treated	
  =	
  true	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  avg_bandwidth()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  @bw_hist.size	
  ==	
  @bw_hist_size	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _total_bw	
  =	
  0.0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist.each	
  do	
  |_bw|	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  _total_bw	
  +=	
  _bw	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  _total_bw.to_f	
  /	
  @bw_hist_size	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  max_received_bandwidth()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist.max	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  min_received_bandwidth()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @bw_hist.min	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  bandwidth_trend()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  @bw_hist.size	
  ==	
  @bw_hist_size	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  _trend	
  =	
  @bw_hist.first	
  -­‐	
  avg_bandwidth()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  bandwidth()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @shift	
  *	
  @local_bw_unit	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  interval()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (app.data_size_unit.to_f	
  *	
  8	
  *	
  Sim::Mgr.granularity	
  /	
  (bandwidth()	
  *	
  1024	
  *	
  1024)).to_i	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  app()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @parent	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
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  def	
  set_shift(_shift)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @shift	
  =	
  (_shift.to_i	
  *	
  @local_bw_unit	
  <	
  8	
  ?	
  (8.0	
  /	
  @local_bw_unit).ceil	
  :	
  _shift.to_i)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  set_bandwidth(_bw)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  unless	
  @sending	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_shift(_bw.to_f	
  /	
  @local_bw_unit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("change	
  bandwidth	
  to	
  #{bandwidth()}Mbps	
  with	
  Shift	
  #{@shift}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  shift_change(_throughput,	
  _shift)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_shift((_throughput.to_f	
  +	
  @local_bw_unit	
  *	
  _shift)	
  /	
  @local_bw_unit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("change	
  bandwidth	
  to	
  #{bandwidth()}Mbps	
  with	
  Shift	
  #{@shift}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  shift_up(_bandwidth)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  unless	
  @sending	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  _bandwidth	
  >	
  bandwidth()	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_bandwidth(_bandwidth)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("keep	
  bandwidth	
  to	
  #{bandwidth()}Mbps	
  with	
  Shift	
  #{@shift}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  shift_down(_bandwidth)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  unless	
  @sending	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  _bandwidth	
  <	
  bandwidth()	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_bandwidth(_bandwidth)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("keep	
  bandwidth	
  to	
  #{bandwidth()}Mbps	
  with	
  Shift	
  #{@shift}",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  half_down()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_shift((@shift.to_f	
  /	
  2).ceil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  success_throughput(_throughput)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  shift_up(_throughput	
  +	
  @local_bw_unit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_to_treat()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  fail_throughput(_throughput)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  shift_down(_throughput)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_to_treat()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  abnormal_throughput(_throughput)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  shift_down(_throughput	
  -­‐	
  @local_bw_unit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_to_treat()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  loss_detected(_throughput)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  shift_down(_throughput	
  -­‐	
  @local_bw_unit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  set_to_treat()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  action()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  send_data()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  #	
  send	
  multipath	
  data	
  

	
  	
  	
  	
  	
  	
  	
  	
  ########################################################################	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  send_data()	
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  data	
  =	
  @queue.shift	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @train_status.add_data(data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("send	
  #{data.pid}	
  to	
  Path#{data.route}",	
  Sim::LOG_INFO)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  app.send_data(data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  @queue.empty?	
  ?	
  make_train()	
  :	
  Sim.now	
  +	
  interval	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  make_train()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("sent	
  TRAIN:#{@train_status.train_id}	
  with	
  #{@train_status.throughput}Mbps",	
  Sim::LOG_ALWAYS)	
  if	
  @train_status	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  train_id	
  =	
  app.next_train_id	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  finish_send()	
  if	
  train_id.nil?	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  logging("make	
  TRAIN:#{train_id}	
  with	
  #{bandwidth()}Mbps",	
  Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @train_status	
  =	
  app.set_train_status(train_id,	
  @route)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  tmp	
  =	
  []	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  pos	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  while	
  pos	
  <	
  app.train_count	
  do	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  data	
  =	
  app.make_new_data()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break	
  if	
  data.nil?	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  data.set_route(@route)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  data.set_train_id(train_id)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  data.set_pos(pos)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  tmp	
  <<	
  data	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  pos	
  +=	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  tmp[0].set_train_first()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  tmp[-­‐1].set_train_last()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @queue	
  +=	
  tmp	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  Sim.now	
  +	
  interval	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  start()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @sending	
  =	
  true	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  shift_up(@local_bw_unit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @next_my_count	
  =	
  make_train()	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  finish_send()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @shift	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @sending	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  return	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  def	
  is_active?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @sending	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  CLASS	
  Multi-­‐Path	
  Receiver	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  Receiver	
  

	
  	
  	
  	
  	
  	
  include	
  Application	
  

	
  	
  	
  	
  	
  	
  Application::CODE[Receiver]	
  =	
  'MPR'	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  object	
  initialzie	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_parent,	
  _opt	
  =	
  {})	
  

	
  	
  	
  	
  	
  	
  	
  	
  super(_parent)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @relay_addr	
  =	
  [nil]	
  

	
  	
  	
  	
  	
  	
  	
  	
  @rec_port	
  =	
  _opt.has_key?('mp_rec_port')	
  ?	
  _opt['mp_rec_port'].to_i	
  :	
  8888	
  

	
  	
  	
  	
  	
  	
  	
  	
  @socket	
  =	
  add_child(Socket::UDPv6Socket.new(self,	
  @name,	
  @rec_port)	
  ,Socket)	
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  @socket.open()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @received_size	
  =	
  [0]	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_data	
  =	
  {}	
  

	
  	
  	
  	
  	
  	
  	
  	
  @packet_count	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  add	
  route	
  with	
  specific	
  relay	
  node	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  add_route(_relay_node)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @relay_addr	
  <<	
  RNS.type_check(_relay_node,	
  Node).ip	
  

	
  	
  	
  	
  	
  	
  	
  	
  @received_size	
  <<	
  0	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  input(_packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  data	
  =	
  RNS.type_check(_packet.app_data,	
  Data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  (@train_data[data.route].nil?)	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @train_data[data.route]	
  =	
  TrainData.new(data.train_id,	
  data.route,	
  _packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  elsif	
  (data.train_id	
  !=	
  @train_data[data.route].train_id)	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  make_reply(@train_data[data.route])	
  if	
  @train_data[data.route]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @train_data[data.route]	
  =	
  TrainData.new(data.train_id,	
  data.route,	
  _packet)	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_data[data.route].add_data(data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @received_size[data.route]	
  +=	
  data.data.size	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("receive	
  #{_packet.pid}	
  data	
  #{data.params},rs=#{@received_size.join('/')}",	
  Sim::LOG_INFO)	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  (data.is_train_last?)	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  make_reply(@train_data[data.route])	
  if	
  @train_data[data.route]	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @train_data[data.route]	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  make_reply(_train_data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  logging("receive	
  TRAIN:#{_train_data.train_id}	
  by	
  #{sprintf('%.2f',	
  _train_data.throughput)}Mbps/Path#{_train_data.route}	
  

#{_train_data.packets.to_s(16)}	
  #{_train_data.first_include?()	
  ?	
  'S'	
  :	
  '-­‐'}/#{_train_data.last_include?()	
  ?	
  'E'	
  :	
  '-­‐'}",	
  

Sim::LOG_ALWAYS)	
  

	
  	
  	
  	
  	
  	
  	
  	
  reply	
  =	
  Reply.new("PK:#{@name}:#{@packet_count	
  +=	
  1}",	
  _train_data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @socket.send_reply(reply,	
  _train_data.packet)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  generic	
  1	
  line	
  string	
  style	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  to_line()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @uid	
  +	
  "¥t"	
  +	
  	
  @relay_addr.join("¥t")	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  CLASS	
  Train	
  Status	
  Data	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  TrainData	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_train_id,	
  _route,	
  _packet	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @packet	
  =	
  _packet	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_id	
  =	
  _train_id	
  

	
  	
  	
  	
  	
  	
  	
  	
  @route	
  =	
  _route	
  

	
  	
  	
  	
  	
  	
  	
  	
  @first_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  @last_count	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  @packets	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @count	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_size	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  @tp_size	
  =	
  nil	
  

	
  	
  	
  	
  	
  	
  	
  	
  @first_packet	
  =	
  false	
  

	
  	
  	
  	
  	
  	
  	
  	
  @last_packet	
  =	
  false	
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  end	
  

	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :packet,	
  :train_id,	
  :route,	
  :packets,	
  :train_size,	
  :count	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  add_data(_data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @first_count	
  =	
  Sim.now	
  if	
  @first_count.nil?	
  

	
  	
  	
  	
  	
  	
  	
  	
  @last_count	
  =	
  Sim.now	
  

	
  	
  	
  	
  	
  	
  	
  	
  @packets	
  |=	
  2	
  **	
  _data.pos	
  

	
  	
  	
  	
  	
  	
  	
  	
  @count	
  +=	
  1	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_size	
  +=	
  _data.data.bit_size	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  @tp_size	
  then	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @tp_size	
  +=	
  _data.data.bit_size	
  

	
  	
  	
  	
  	
  	
  	
  	
  else	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  @tp_size	
  =	
  0	
  

	
  	
  	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  	
  	
  	
  	
  @first_packet	
  =	
  true	
  if	
  _data.is_train_first?	
  

	
  	
  	
  	
  	
  	
  	
  	
  @last_packet	
  =	
  true	
  if	
  _data.is_train_last?	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  first_include?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @first_packet	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  last_include?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @last_packet	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  time_count()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @last_count	
  -­‐	
  @first_count	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  time()	
  

	
  	
  	
  	
  	
  	
  	
  	
  time_count.to_f	
  /	
  Sim::Mgr.granularity	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  throughput()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @tp_size.to_f	
  /	
  time	
  /	
  1024	
  /	
  1024	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  #	
  CLASS	
  Multi-­‐Path	
  Communication	
  Data	
  Format	
  

	
  	
  	
  	
  ############################################################################	
  

	
  	
  	
  	
  class	
  Data	
  

	
  

	
  	
  	
  	
  	
  	
  include	
  BitData	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  object	
  initialzie	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_pid,	
  _data,	
  _route	
  =	
  nil,	
  _train	
  =	
  nil,	
  _pos	
  =	
  nil)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @pid	
  =	
  _pid.to_s	
  	
  	
  	
  	
  	
  #	
  Packet	
  ID	
  (Virtual	
  Data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data	
  =	
  _data.to_s	
  	
  	
  	
  #	
  Send	
  data	
  (Valiable	
  Size)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @route	
  =	
  _route.to_i	
  	
  #	
  Route	
  identify	
  number	
  (4bit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @type	
  =	
  0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #	
  Start/End	
  flag	
  (4bit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_id	
  =	
  _train.to_i	
  	
  #	
  Packet	
  Train	
  ID	
  (24bit)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @pos	
  =	
  _pos.to_i	
  	
  	
  	
  	
  	
  #	
  Position	
  in	
  Train	
  (8bit)	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :pid,	
  :data,	
  :route,	
  :train_id,	
  :pos	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_train_first()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @type	
  |=	
  1	
  

	
  	
  	
  	
  	
  	
  end	
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  def	
  set_train_last()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @type	
  |=	
  2	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  is_train_first?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @type	
  &	
  1	
  !=	
  0	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  is_train_last?()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @type	
  &	
  2	
  !=	
  0	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_route(_route)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @route	
  =	
  _route.to_i	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_train_id(_train_id)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @train_id	
  =	
  _train_id.to_i	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  set_pos(_pos)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @pos	
  =	
  _pos.to_i	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  params()	
  

	
  	
  	
  	
  	
  	
  	
  	
  "r=#{@route},t=#{@train_id},p=#{@pos},f=#{is_train_first?	
  ?	
  'S'	
  :	
  '-­‐'}#{is_train_last?	
  ?	
  'E'	
  :	
  '-­‐'},s=#{@data.size}"	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  #	
  bit	
  size	
  for	
  BitData	
  

	
  	
  	
  	
  	
  	
  ##########################################################################	
  

	
  	
  	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  @data.bit_size	
  +	
  4	
  +	
  4	
  +	
  24	
  +	
  8	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  class	
  Reply	
  

	
  	
  	
  	
  	
  	
  include	
  BitData	
  

	
  

	
  	
  	
  	
  	
  	
  attr_reader	
  :pid,	
  :status	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  initialize(_pid,	
  _train_data)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @status	
  =	
  RNS.type_check(_train_data,	
  TrainData)	
  

	
  	
  	
  	
  	
  	
  	
  	
  @pid	
  =	
  _pid.to_s	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  

	
  	
  	
  	
  	
  	
  def	
  bit_size()	
  

	
  	
  	
  	
  	
  	
  	
  	
  32	
  +	
  4	
  +	
  28	
  +	
  32	
  +	
  32	
  

	
  	
  	
  	
  	
  	
  end	
  

	
  	
  	
  	
  end	
  

	
  	
  end	
  

end	
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付録 C	
 実機実験用 SMPC通信プログラム 
	
  

#define	
  DEBUG	
  	
  	
  //	
  Debug	
  mode(?)	
  

#define	
  END_DEBUG	
  //	
  End	
  of	
  debugmode(?)	
  

#define	
  LOGDISP	
  	
  	
  //	
  Output	
  detailed	
  log(?)	
  

	
  

/*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐includes-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

#include	
  <stdio.h>	
  

#include	
  <stdlib.h>	
  

#include	
  <errno.h>	
  

#include	
  <string.h>	
  

#include	
  <unistd.h>	
  

#include	
  <sys/types.h>	
  

#include	
  <sys/uio.h>	
  

#include	
  <sys/socket.h>	
  

#include	
  <sys/param.h>	
  

#include	
  <sys/stat.h>	
  

#include	
  <sys/time.h>	
  

#include	
  <netdb.h>	
  

#include	
  <netinet/in.h>	
  

#include	
  <arpa/inet.h>	
  

#include	
  <fcntl.h>	
  

#include	
  <unistd.h>	
  

#include	
  <time.h>	
  

#include	
  <pthread.h>	
  

	
  

/*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐defines-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

//	
  Path	
  

#define	
  MAIN	
  0	
  

#define	
  SUB	
  1	
  

#define	
  MAXROUTE	
  2	
  

	
  

//	
  Data	
  size	
  

#define	
  BUFF	
  1024	
  	
  	
  	
  	
  	
  	
  //	
  SMPC	
  data	
  payload	
  [byte]	
  

#define	
  PACKETSIZE	
  (40	
  +	
  8	
  +	
  (4+2+2+BUFF))	
  	
  //	
  IPv6/UDP	
  datagram	
  size	
  (w/o	
  rthdr)	
  [byte]	
  

#define	
  ETHERSIZE	
  (18	
  +	
  PACKETSIZE	
  +	
  8)	
  	
  	
  //	
  Ether/IPv6/UDP	
  frame	
  size	
  (w/o	
  rthdr)	
  [byte]	
  

#define	
  SENDDATASIZE	
  104857600	
  	
  //	
  100MB	
  in	
  byte	
  

	
  

//	
  Packet	
  train	
  

#define	
  LISTMAX	
  200	
  

#define	
  TRAIN	
  16//	
  Packet	
  number	
  of	
  one	
  train	
  

#define	
  SENDPACKETNUM	
  ((SENDDATASIZE	
  >>	
  10)	
  /	
  TRAIN	
  +	
  1)	
  	
  //	
  train	
  number	
  for	
  sending	
  SENDDATASIZE	
  

	
  

//	
  Bandwidth	
  

#define	
  MAXWIDTH	
  96.0	
  	
  	
  	
  	
  //	
  max	
  bandwidth	
  of	
  one	
  path	
  [Mbps]	
  

#define	
  MINWIDTH	
  8.0	
  	
  	
  	
  	
  	
  //	
  minimum	
  bandwidth	
  of	
  one	
  path	
  [Mbps]	
  

#define	
  WIDTH_SHIFT	
  1.0	
  	
  	
  	
  	
  //	
  bandwidth	
  unit	
  for	
  up	
  or	
  down	
  sending	
  rate	
  [Mbps]	
  

#define	
  THRESHOLD_MIN	
  0.95	
  	
  //	
  sending	
  ratio	
  threshold	
  for	
  delay	
  

#define	
  THRESHOLD_MAX	
  1.05	
  	
  //	
  sending	
  ratio	
  threshold	
  for	
  abnormal	
  

	
  

//	
  

#define	
  RECVTIMEOUT_SEC	
  5	
  //	
  timeout	
  for	
  server	
  [sec]	
  

	
  

//	
  Status	
  

#define	
  NORMAL	
  10	
  

#define	
  SDELAY	
  11	
  

#define	
  LOSS	
  12	
  

#define	
  ABNORMAL	
  13	
  

#define	
  INVALID	
  14	
  

#define	
  SET	
  1	
  

#define	
  RESET	
  0	
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#define	
  min(a,b)	
  ((a)	
  <	
  (b)	
  ?	
  (a):(b))	
  

#define	
  max(a,b)	
  ((a)	
  >	
  (b)	
  ?	
  (a):(b))	
  

	
  

/*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐structs-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

//	
  SMPC	
  data	
  packet	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  trid;	
  	
  	
  	
  	
  	
  	
  	
  	
  //	
  Train	
  ID	
  

	
  	
  	
  	
  unsigned	
  short	
  int	
  route;	
  	
  	
  //	
  Path	
  

	
  	
  	
  	
  unsigned	
  short	
  int	
  id;	
  	
  	
  	
  //	
  Packet	
  ID	
  

	
  	
  	
  	
  char	
  msg[BUFF];	
  	
  	
  	
  	
  	
  	
  //	
  Data	
  payload	
  

}	
  Packetdata;	
  

	
  

//	
  TACK	
  Packet	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  route;	
  	
  	
  	
  	
  	
  	
  	
  //	
  Path	
  

	
  	
  	
  	
  int	
  trid;	
  	
  	
  	
  	
  	
  	
  //	
  Train	
  ID	
  

	
  	
  	
  	
  long	
  td1;	
  	
  	
  	
  	
  	
  	
  //	
  first	
  packet	
  receiving	
  time	
  

	
  	
  	
  	
  long	
  td2;	
  	
  	
  	
  	
  	
  	
  //	
  last	
  packet	
  receibing	
  time	
  

	
  	
  	
  	
  unsigned	
  short	
  int	
  id;	
  	
  //	
  received	
  packet	
  flag	
  

}	
  Replypacket;	
  

	
  

//	
  tarin	
  sending	
  status	
  to	
  cache	
  on	
  client	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  unsigned	
  int	
  route;	
  //	
  route	
  

	
  	
  	
  	
  long	
  ts1;	
  //	
  first	
  packet	
  sending	
  time	
  

	
  	
  	
  	
  long	
  ts2;	
  //	
  last	
  packet	
  sending	
  time	
  

	
  	
  	
  	
  double	
  widthcache;	
  //	
  sending	
  rate	
  

}	
  Senddata;	
  

	
  

//	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  trid;	
  	
  	
  	
  	
  	
  	
  //	
  Train	
  ID	
  

	
  	
  	
  	
  unsigned	
  short	
  int	
  id;	
  	
  //	
  received	
  packet	
  flag	
  

}	
  Recvdata;	
  

	
  

//	
  parameters	
  of	
  sending	
  module	
  for	
  main	
  path	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  s;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  	
  	
  	
  long	
  *sleeptimecontrol;	
  

	
  	
  	
  	
  double	
  *width;	
  

	
  	
  	
  	
  int	
  *trainid;	
  

}	
  SM_arg;	
  

	
  

//	
  parameters	
  of	
  sending	
  module	
  for	
  sub	
  path	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  s;	
  

	
  	
  	
  	
  char	
  relay[NI_MAXHOST];	
  //	
  relay	
  node	
  name/IP	
  (NI_MAXHOST	
  is	
  defined	
  if	
  netdb.h)	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  	
  	
  	
  long	
  *sleeptimecontrol;	
  

	
  	
  	
  	
  double	
  *width;	
  

	
  	
  	
  	
  int	
  *trainid;	
  

}	
  SS_arg;	
  

	
  

//	
  parameters	
  of	
  receiving	
  module	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  s;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  	
  	
  	
  char	
  relayhost[NI_MAXHOST];	
  

	
  	
  	
  	
  int	
  cs;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *cres;	
  

}	
  RS_arg;	
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//	
  parameters	
  of	
  control	
  module	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  s;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  	
  	
  	
  long	
  *sleeptimecontrol;	
  

	
  	
  	
  	
  double	
  *width;	
  

}	
  RC_arg;	
  

	
  

typedef	
  struct	
  	
  {	
  

	
  	
  	
  	
  int	
  average;	
  

	
  	
  	
  	
  int	
  difference;	
  

}	
  MA_RESULT;	
  

	
  

/*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐global	
  variables-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

int	
  packet_size[MAXROUTE]	
  =	
  {	
  BUFF	
  *	
  1000	
  <<	
  3,	
  BUFF	
  *	
  1000	
  <<	
  3	
  };	
  

int	
  train_size[MAXROUTE]	
  =	
  {(TRAIN	
  -­‐	
  1)	
  *	
  ETHERSIZE	
  <<	
  3,	
  (TRAIN	
  -­‐	
  1)	
  *	
  (ETHERSIZE	
  +	
  24)	
  <<	
  3};	
  

char	
  mode;	
  

int	
  error;	
  

	
  

/*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐declare	
  functions-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

	
  

int	
  server_start(char	
  *server_port);	
  

int	
  client_start(char	
  *server_address,	
  char	
  *server_port,	
  char	
  *relay_address,	
  char	
  modeflag);	
  

struct	
  addrinfo	
  *make_socket(char	
  *hostname,	
  char	
  *port,	
  int	
  *s,	
  const	
  int	
  flag);	
  

void	
  *send_main(void	
  *arg);	
  

void	
  *send_sub(void	
  *arg);	
  

void	
  *recv_serv(void	
  *arg);	
  

int	
  nego_server(char	
  *port,	
  char	
  *relayhost,	
  char	
  *clienthost,	
  struct	
  addrinfo	
  **rres1,	
  int	
  *rs1,	
  struct	
  addrinfo	
  **sres1,	
  int	
  *ss1);	
  

int	
  nego_client(char	
  *host,	
  char	
  *port,	
  char	
  *relayhost,	
  struct	
  addrinfo	
  **sres1,	
  int	
  *ss1,	
  struct	
  addrinfo	
  **rres1,	
  int	
  *rs1);	
  

void	
  *recv_client(void	
  *arg);	
  

double	
  bandwidth_calibration(double	
  width);	
  

int	
  bitcount(unsigned	
  short	
  int	
  recv_flag);	
  

	
  

/*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐implementation-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

int	
  main(int	
  argc,	
  char	
  **argv)	
  {	
  

	
  	
  	
  	
  char	
  port[4],	
  serv_addr[NI_MAXHOST],	
  relay_addr[NI_MAXHOST];	
  

	
  

	
  	
  	
  	
  fprintf(stdout,	
  "argc	
  is	
  %d¥n",	
  argc);	
  

	
  	
  	
  	
  mode	
  =	
  getopt(argc,	
  argv,	
  "SC12");	
  

	
  

	
  	
  	
  	
  if(argc	
  ==	
  3	
  ||	
  argc	
  ==	
  5)	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  switch(mode)	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  case	
  'S':	
  {	
  	
  	
  //	
  server	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "run	
  as	
  server¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  strcpy(port,	
  argv[optind]);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  server_start(port);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  break;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  case	
  'C':	
  	
  	
  	
  	
  	
  	
  //	
  client	
  multi	
  path	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "run	
  as	
  client¥tMultipath¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  case	
  '1':	
  	
  	
  	
  	
  	
  	
  //	
  client	
  main	
  path	
  only	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "run	
  as	
  client¥tOnly	
  MAIN	
  route¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  case	
  '2':	
  	
  	
  	
  	
  	
  	
  //	
  client	
  sub	
  path	
  only	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "run	
  as	
  client¥tOnly	
  SUB	
  route¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  default:	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "mode¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "[-­‐S]	
  :	
  as	
  a	
  server¥n");	
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  fprintf(stdout,	
  "[-­‐C]	
  :	
  as	
  a	
  client	
  multipath	
  	
  [-­‐1]	
  :	
  use	
  only	
  main	
  route	
  	
  [-­‐2]	
  :	
  use	
  only	
  sub	
  route¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  exit(0);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(mode	
  ==	
  'C'	
  ||	
  mode	
  ==	
  '1'	
  ||	
  mode	
  ==	
  '2')	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  strcpy(serv_addr,	
  argv[optind]);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  strcpy(port,	
  argv[optind+1]);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  strcpy(relay_addr,	
  argv[optind+2]);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  client_start(serv_addr,	
  port,	
  relay_addr,	
  mode);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  }	
  

	
  	
  	
  	
  else	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "usage¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "as	
  a	
  server	
  :	
  %s	
  -­‐S	
  port¥n",	
  argv[0]);	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "as	
  a	
  client	
  :	
  %s	
  mode	
  server_address	
  port	
  relayhost_address¥n",	
  argv[0]);	
  

	
  	
  	
  	
  	
  	
  	
  	
  exit(0);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  return	
  0;	
  

}	
  

	
  

int	
  server_start(char	
  *server_port)	
  {	
  

	
  	
  	
  	
  int	
  rs,	
  cs;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *rres,	
  *cres;	
  

	
  	
  	
  	
  Senddata	
  sendtimelist[LISTMAX];	
  

	
  	
  	
  	
  RS_arg	
  *rs_arg;	
  

	
  	
  	
  	
  pthread_t	
  rmt;	
  

	
  

	
  	
  	
  	
  char	
  relayhost[NI_MAXHOST];	
  

	
  	
  	
  	
  char	
  clienthost[NI_MAXHOST];	
  

	
  

	
  	
  	
  	
  //	
  negotiate	
  to	
  client	
  

	
  	
  	
  	
  if(nego_server(server_port,	
  relayhost,	
  clienthost,	
  &rres,	
  &rs,	
  &cres,	
  &cs)	
  <	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "cannot	
  negotiation¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  exit(1);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  rs_arg	
  =	
  (RS_arg	
  *)malloc(sizeof(RS_arg));	
  

	
  	
  	
  	
  rs_arg-­‐>s	
  =	
  rs;	
  

	
  	
  	
  	
  rs_arg-­‐>res	
  =	
  rres;	
  

	
  	
  	
  	
  rs_arg-­‐>sendtimelist	
  =	
  sendtimelist;	
  

	
  	
  	
  	
  sprintf(rs_arg-­‐>relayhost,	
  "%s",	
  relayhost);	
  

	
  	
  	
  	
  rs_arg-­‐>cres	
  =	
  cres;	
  

	
  	
  	
  	
  rs_arg-­‐>cs	
  =	
  cs;	
  

	
  

	
  	
  	
  	
  //	
  start	
  receive	
  module	
  

	
  	
  	
  	
  error	
  =	
  pthread_create(&rmt,	
  NULL,	
  recv_serv,	
  (void	
  *)rs_arg);	
  

	
  

	
  	
  	
  	
  //	
  wait	
  for	
  end	
  of	
  each	
  thread	
  

	
  	
  	
  	
  pthread_join(rmt,	
  NULL);	
  

	
  

	
  	
  	
  	
  freeaddrinfo(rres);	
  

	
  	
  	
  	
  freeaddrinfo(cres);	
  

	
  

	
  	
  	
  	
  return	
  0;	
  

}	
  

	
  

//	
  

int	
  client_start(char	
  *server_address,	
  char	
  *server_port,	
  char	
  *relay_address,	
  char	
  modeflag)	
  {	
  

	
  	
  	
  	
  int	
  ss,	
  rs,	
  trainid;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *rres,	
  *sres;	
  

	
  	
  	
  	
  char	
  recvport[10];	
  

	
  	
  	
  	
  SM_arg	
  *sm_arg;	
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  SS_arg	
  *ss_arg;	
  

	
  	
  	
  	
  RC_arg	
  *r_arg;	
  

	
  	
  	
  	
  pthread_t	
  mt,	
  st,	
  rt;	
  

	
  

	
  	
  	
  	
  long	
  sleeptimecontrol[MAXROUTE];	
  

	
  	
  	
  	
  double	
  width[MAXROUTE];	
  

	
  

	
  	
  	
  	
  Senddata	
  sendtimelist[LISTMAX];	
  

	
  

#ifdef	
  END_DEBUG	
  

	
  	
  	
  	
  Packetdata	
  lastmsg;	
  

	
  	
  	
  	
  sprintf(lastmsg.msg,	
  "ENDTRIGGER");	
  

#endif	
  

	
  

	
  	
  	
  	
  //	
  negotiate	
  to	
  server	
  

	
  	
  	
  	
  if(nego_client(server_address,	
  server_port,	
  relay_address,	
  &sres,	
  &ss,	
  &rres,	
  &rs)	
  <	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "cannot	
  negotiation¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  exit(1);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  //	
  variable	
  initialize	
  

	
  	
  	
  	
  width[SUB]	
  =	
  MINWIDTH;	
  

	
  	
  	
  	
  width[MAIN]	
  =	
  MINWIDTH;	
  

	
  	
  	
  	
  sleeptimecontrol[SUB]	
  =	
  999999;	
  

	
  	
  	
  	
  sleeptimecontrol[MAIN]	
  =	
  999999;	
  

	
  

	
  	
  	
  	
  trainid	
  =	
  0;	
  

	
  

	
  	
  	
  	
  sprintf(recvport,	
  "%d",	
  atoi(server_port)+1);	
  

	
  

	
  	
  	
  	
  //	
  control	
  module	
  parameters	
  

	
  	
  	
  	
  r_arg	
  =	
  (RC_arg	
  *)malloc(sizeof(RC_arg));	
  

	
  	
  	
  	
  r_arg-­‐>s	
  =	
  rs;	
  

	
  	
  	
  	
  r_arg-­‐>res	
  =	
  rres;	
  

	
  	
  	
  	
  r_arg-­‐>sendtimelist	
  =	
  sendtimelist;	
  

	
  	
  	
  	
  r_arg-­‐>sleeptimecontrol	
  =	
  sleeptimecontrol;	
  

	
  	
  	
  	
  r_arg-­‐>width	
  =	
  width;	
  

	
  

	
  	
  	
  	
  if(modeflag	
  ==	
  'C'	
  ||	
  modeflag	
  ==	
  '1')	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  when	
  main	
  path	
  is	
  active	
  

	
  	
  	
  	
  	
  	
  	
  	
  sm_arg	
  =	
  (SM_arg	
  *)malloc(sizeof(SM_arg));	
  

	
  	
  	
  	
  	
  	
  	
  	
  sm_arg-­‐>s	
  =	
  ss;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sm_arg-­‐>res	
  =	
  sres;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sm_arg-­‐>sendtimelist	
  =	
  sendtimelist;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sm_arg-­‐>sleeptimecontrol	
  =	
  sleeptimecontrol;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sm_arg-­‐>width	
  =	
  width;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sm_arg-­‐>trainid	
  =	
  &trainid;	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  start	
  sending	
  module	
  for	
  main	
  path	
  

	
  	
  	
  	
  	
  	
  	
  	
  pthread_create(&mt,	
  NULL,	
  send_main,	
  (void	
  *)sm_arg);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  if(modeflag	
  ==	
  'C'	
  ||	
  modeflag	
  ==	
  '2')	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  when	
  sub	
  path	
  is	
  active	
  

	
  	
  	
  	
  	
  	
  	
  	
  ss_arg	
  =	
  (SS_arg	
  *)malloc(sizeof(SS_arg));	
  

	
  	
  	
  	
  	
  	
  	
  	
  ss_arg-­‐>s	
  =	
  ss;	
  

	
  	
  	
  	
  	
  	
  	
  	
  ss_arg-­‐>res	
  =	
  sres;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sprintf(ss_arg-­‐>relay,	
  "%s",	
  relay_address);	
  

	
  	
  	
  	
  	
  	
  	
  	
  ss_arg-­‐>sendtimelist	
  =	
  sendtimelist;	
  

	
  	
  	
  	
  	
  	
  	
  	
  ss_arg-­‐>sleeptimecontrol	
  =	
  sleeptimecontrol;	
  

	
  	
  	
  	
  	
  	
  	
  	
  ss_arg-­‐>width	
  =	
  width;	
  

	
  	
  	
  	
  	
  	
  	
  	
  ss_arg-­‐>trainid	
  =	
  &trainid;	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  start	
  sending	
  module	
  for	
  sub	
  path	
  

	
  	
  	
  	
  	
  	
  	
  	
  pthread_create(&st,	
  NULL,	
  send_sub,	
  (void	
  *)ss_arg);	
  

	
  	
  	
  	
  }	
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  //	
  start	
  control	
  module	
  

	
  	
  	
  	
  pthread_create(&rt,	
  NULL,	
  recv_client,	
  (void	
  *)r_arg);	
  

	
  

	
  	
  	
  	
  //	
  wait	
  for	
  end	
  of	
  control	
  module	
  

	
  	
  	
  	
  pthread_join(rt,	
  NULL);	
  

	
  

	
  	
  	
  	
  if(modeflag	
  ==	
  'C'	
  ||	
  modeflag	
  ==	
  '1')	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  wait	
  for	
  end	
  of	
  sending	
  module	
  for	
  main	
  path	
  

	
  	
  	
  	
  	
  	
  	
  	
  pthread_join(mt,	
  NULL);	
  

	
  

	
  	
  	
  	
  if(modeflag	
  ==	
  'C'	
  ||	
  modeflag	
  ==	
  '2')	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  wait	
  for	
  end	
  of	
  sending	
  module	
  for	
  main	
  path	
  

	
  	
  	
  	
  	
  	
  	
  	
  pthread_join(st,	
  NULL);	
  

	
  

#ifdef	
  END_DEBUG	
  

	
  	
  	
  	
  sendto(ss,	
  &lastmsg,	
  sizeof(lastmsg),	
  0,	
  sres-­‐>ai_addr,	
  sres-­‐>ai_addrlen);	
  

#endif	
  

	
  

	
  	
  	
  	
  close(ss);	
  

	
  	
  	
  	
  close(rs);	
  

	
  

	
  	
  	
  	
  freeaddrinfo(rres);	
  

	
  	
  	
  	
  freeaddrinfo(sres);	
  

	
  

	
  	
  	
  	
  return	
  0;	
  

}	
  

	
  

struct	
  addrinfo	
  *make_socket(char	
  *hostname,	
  char	
  *port,	
  int	
  *s,	
  const	
  int	
  flag)	
  {	
  

	
  	
  	
  	
  struct	
  addrinfo	
  hints,	
  *res,	
  *res0;	
  

	
  	
  	
  	
  char	
  hbuf[NI_MAXHOST],	
  sbuf[NI_MAXSERV];	
  

	
  

	
  	
  	
  	
  //getaddrinfo	
  

	
  	
  	
  	
  memset(&hints,	
  0,	
  sizeof(hints));	
  

	
  	
  	
  	
  hints.ai_socktype	
  =	
  SOCK_DGRAM;	
  //	
  use	
  UDP	
  socket	
  

	
  	
  	
  	
  hints.ai_family	
  =	
  AF_INET6;	
  	
  	
  	
  	
  //	
  use	
  IPv6	
  

	
  

	
  	
  	
  	
  if(flag	
  ==	
  1)	
  {	
  //	
  if	
  server	
  socket	
  

	
  	
  	
  	
  	
  	
  	
  	
  hints.ai_flags	
  =	
  AI_PASSIVE;	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  if	
  (getaddrinfo(hostname,	
  port,	
  &hints,	
  &res0))	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "error	
  at	
  getaddrinfo,	
  %s,	
  %s¥n",	
  hostname,	
  port);	
  

	
  	
  	
  	
  	
  	
  	
  	
  exit(1);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  /*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  create	
  socket	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

	
  	
  	
  	
  for(res	
  =	
  res0;	
  res;	
  res	
  =	
  res-­‐>ai_next)	
  	
  {	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  ((error	
  =	
  getnameinfo(res-­‐>ai_addr,	
  res-­‐>ai_addrlen,	
  hbuf,	
  sizeof(hbuf),	
  sbuf,	
  sizeof(sbuf),	
  NI_NUMERICHOST	
  |	
  

NI_NUMERICSERV))	
  !=	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "getnameinfo	
  :	
  %s	
  %s	
  :	
  %s¥n",	
  hostname,	
  port,	
  gai_strerror(error));	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  continue;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "Destination¥t%s¥tPort¥t%s¥n",	
  hbuf,	
  sbuf);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  ((*s	
  =	
  socket(res-­‐>ai_family,	
  res-­‐>ai_socktype,	
  res-­‐>ai_protocol))	
  <	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  continue;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  (flag	
  ==	
  1	
  &&	
  bind(*s,	
  res-­‐>ai_addr,	
  res-­‐>ai_addrlen)	
  <	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  close(*s);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  continue;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
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  return	
  res;	
  

	
  	
  	
  	
  }	
  

	
  	
  	
  	
  /*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  create	
  socket	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

	
  

	
  	
  	
  	
  fprintf(stdout,	
  "cannot	
  make	
  socket	
  for	
  %s,	
  %s¥n",	
  hostname,	
  port);	
  

	
  	
  	
  	
  exit(1);	
  

}	
  

	
  

//	
  sending	
  module	
  for	
  main	
  path	
  on	
  clinent	
  

void	
  *send_main(void	
  *arg)	
  {	
  

	
  	
  	
  	
  int	
  packet_id;	
  

	
  	
  	
  	
  SM_arg	
  *argp	
  =	
  (SM_arg	
  *)arg;	
  

	
  	
  	
  	
  int	
  s;	
  

	
  	
  	
  	
  struct	
  timeval	
  now;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  	
  	
  	
  struct	
  timespec	
  sleeptime;	
  

	
  	
  	
  	
  long	
  *sleeptimecontrol;	
  

	
  	
  	
  	
  int	
  *train_ptr;	
  

	
  	
  	
  	
  double	
  *width;	
  

	
  	
  	
  	
  int	
  array_method_main;	
  

	
  	
  	
  	
  int	
  trainID_main;	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  	
  	
  	
  Packetdata	
  sendpacket;	
  

	
  

	
  	
  	
  	
  //	
  parameter	
  extract	
  

	
  	
  	
  	
  s	
  =	
  argp-­‐>s;	
  

	
  	
  	
  	
  res	
  =	
  argp-­‐>res;	
  

	
  	
  	
  	
  sendtimelist	
  =	
  argp-­‐>sendtimelist;	
  

	
  	
  	
  	
  sleeptimecontrol	
  =	
  argp-­‐>sleeptimecontrol;	
  

	
  	
  	
  	
  width	
  =	
  argp-­‐>width;	
  

	
  	
  	
  	
  train_ptr	
  =	
  argp-­‐>trainid;	
  

	
  	
  	
  	
  free(argp);	
  

	
  

	
  	
  	
  	
  //	
  sending	
  interval	
  initialize	
  

	
  	
  	
  	
  sleeptime.tv_sec	
  =	
  0;	
  

	
  

	
  	
  	
  	
  sendpacket.route	
  =	
  MAIN;	
  

	
  	
  	
  	
  sprintf(sendpacket.msg,	
  "maintestmessage");	
  

	
  

	
  	
  	
  	
  //	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  train	
  sending	
  loop	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  //	
  

	
  	
  	
  	
  while	
  ((trainID_main	
  =	
  (*train_ptr)++)	
  <=	
  SENDPACKETNUM)	
  {	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  /*	
  train	
  info	
  buffer	
  index	
  */	
  

	
  	
  	
  	
  	
  	
  	
  	
  array_method_main	
  =	
  trainID_main	
  %	
  LISTMAX;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  /*	
  Train	
  initialize	
  */	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendpacket.trid	
  =	
  trainID_main;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_main].route	
  =	
  MAIN;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_main].widthcache	
  =	
  width[MAIN];	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_main].ts1	
  =	
  0;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_main].ts2	
  =	
  0;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  /*	
  Packet	
  sending	
  loop	
  */	
  

	
  	
  	
  	
  	
  	
  	
  	
  for	
  (packet_id=0;	
  packet_id	
  <	
  TRAIN;	
  packet_id++)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendpacket.id	
  =	
  1	
  <<	
  packet_id;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendto(s,	
  &sendpacket,	
  sizeof(sendpacket),	
  0,	
  res-­‐>ai_addr,	
  res-­‐>ai_addrlen);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  (packet_id	
  ==	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  gettimeofday(&now,	
  NULL);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_main].ts1	
  =	
  now.tv_usec;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  if	
  (packet_id	
  ==	
  (TRAIN	
  -­‐	
  1))	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  gettimeofday(&now,	
  NULL);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_main].ts2	
  =	
  now.tv_usec;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sleeptime.tv_nsec	
  =	
  sleeptimecontrol[MAIN];	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nanosleep(&sleeptime,	
  NULL);	
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  }	
  

	
  	
  	
  	
  }	
  

	
  	
  	
  	
  //	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  end	
  of	
  train	
  sending	
  loop	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  //	
  

}	
  

	
  

//	
  sending	
  module	
  for	
  sub	
  path	
  on	
  client	
  

void	
  *send_sub(void	
  *arg){	
  

	
  	
  	
  	
  int	
  packet_id;	
  

	
  	
  	
  	
  struct	
  timeval	
  now;	
  

	
  	
  	
  	
  SS_arg	
  *argp	
  =	
  (SS_arg	
  *)arg;	
  

	
  	
  	
  	
  int	
  s;	
  

	
  	
  	
  	
  char	
  relay[NI_MAXHOST];	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  	
  	
  	
  long	
  *sleeptimecontrol;	
  

	
  	
  	
  	
  int	
  *train_ptr;	
  

	
  	
  	
  	
  double	
  *width;	
  

	
  	
  	
  	
  int	
  array_method_sub;	
  

	
  

	
  	
  	
  	
  struct	
  addrinfo	
  hints,	
  *rres;	
  

	
  	
  	
  	
  struct	
  msghdr	
  mheader;	
  

	
  	
  	
  	
  struct	
  iovec	
  message;	
  

	
  	
  	
  	
  struct	
  sockaddr_in6	
  *I1;	
  

	
  	
  	
  	
  struct	
  cmsghdr	
  *cmsgptr;	
  

	
  	
  	
  	
  void	
  *ptr;	
  

	
  

	
  	
  	
  	
  struct	
  timespec	
  sleeptime;	
  

	
  

	
  	
  	
  	
  int	
  trainID_sub;	
  

	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  	
  	
  	
  Packetdata	
  sendpacket;	
  

	
  

	
  	
  	
  	
  s	
  =	
  argp-­‐>s;	
  

	
  	
  	
  	
  res	
  =	
  argp-­‐>res;	
  

	
  	
  	
  	
  sprintf(relay,	
  "%s",	
  argp-­‐>relay);	
  

	
  	
  	
  	
  sendtimelist	
  =	
  argp-­‐>sendtimelist;	
  

	
  	
  	
  	
  sleeptimecontrol	
  =	
  argp-­‐>sleeptimecontrol;	
  

	
  	
  	
  	
  width	
  =	
  argp-­‐>width;	
  

	
  	
  	
  	
  train_ptr	
  =	
  argp-­‐>trainid;	
  

	
  	
  	
  	
  free(argp);	
  

	
  

	
  	
  	
  	
  message.iov_base	
  =	
  (void	
  *)&sendpacket;	
  

	
  	
  	
  	
  message.iov_len	
  =	
  sizeof(sendpacket);	
  

	
  

	
  	
  	
  	
  memset(&mheader,	
  0,	
  sizeof(mheader));	
  

	
  	
  	
  	
  mheader.msg_name	
  =	
  res-­‐>ai_addr;	
  

	
  	
  	
  	
  mheader.msg_namelen	
  =	
  res-­‐>ai_addrlen;	
  

	
  	
  	
  	
  mheader.msg_iov	
  =	
  &message;	
  

	
  	
  	
  	
  mheader.msg_iovlen	
  =	
  1;	
  

	
  

	
  	
  	
  	
  memset(&hints,	
  0,	
  sizeof(hints));	
  

	
  	
  	
  	
  hints.ai_family	
  =	
  AF_INET6;	
  

	
  

	
  	
  	
  	
  if(getaddrinfo(relay,	
  NULL,	
  &hints,	
  &rres))	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "send_sub:%s¥n",	
  relay);	
  

	
  	
  	
  	
  	
  	
  	
  	
  exit(1);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  ptr	
  =	
  malloc(inet6_rthdr_space(IPV6_RTHDR_TYPE_0,	
  1));	
  

	
  	
  	
  	
  cmsgptr	
  =	
  inet6_rthdr_init(ptr,	
  IPV6_RTHDR_TYPE_0);	
  

	
  

	
  	
  	
  	
  I1	
  =	
  (struct	
  sockaddr_in6	
  *)rres-­‐>ai_addr;	
  

	
  	
  	
  	
  inet6_rthdr_add(cmsgptr,	
  &(I1-­‐>sin6_addr),	
  IPV6_RTHDR_LOOSE);	
  

	
  	
  	
  	
  inet6_rthdr_lasthop(cmsgptr,	
  IPV6_RTHDR_LOOSE);	
  

	
  	
  	
  	
  mheader.msg_control	
  =	
  ptr;	
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  mheader.msg_controllen	
  =	
  cmsgptr-­‐>cmsg_len;	
  

	
  

	
  	
  	
  	
  sleeptime.tv_sec	
  =	
  0;	
  

	
  

	
  	
  	
  	
  sendpacket.route	
  =	
  SUB;	
  

	
  	
  	
  	
  sprintf(sendpacket.msg,	
  "subtestmessage");	
  

	
  

	
  	
  	
  	
  while((trainID_sub	
  =	
  (*train_ptr)++)	
  <=	
  SENDPACKETNUM)	
  {	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  /*	
  train	
  info	
  buffer	
  index	
  */	
  

	
  	
  	
  	
  	
  	
  	
  	
  array_method_sub	
  =	
  trainID_sub	
  %	
  LISTMAX;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  /*	
  Train	
  initialize	
  */	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendpacket.trid	
  =	
  trainID_sub;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_sub].route	
  =	
  SUB;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_sub].widthcache	
  =	
  width[SUB];	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_sub].ts1	
  =	
  0;	
  

	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_sub].ts2	
  =	
  0;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  /*	
  Packet	
  loop	
  */	
  

	
  	
  	
  	
  	
  	
  	
  	
  for	
  (packet_id=0;	
  packet_id	
  <	
  TRAIN;	
  packet_id++)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendpacket.id	
  =	
  1	
  <<	
  packet_id;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendmsg(s,	
  &mheader,	
  0);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  (packet_id	
  ==	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  gettimeofday(&now,	
  NULL);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_sub].ts1	
  =	
  now.tv_usec;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  if	
  (packet_id	
  ==	
  (TRAIN	
  -­‐	
  1))	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  gettimeofday(&now,	
  NULL);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendtimelist[array_method_sub].ts2	
  =	
  now.tv_usec;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sleeptime.tv_nsec	
  =	
  sleeptimecontrol[SUB];	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nanosleep(&sleeptime,	
  NULL);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  }	
  

}	
  

	
  

//	
  receiving	
  module	
  on	
  server	
  

void	
  *recv_serv(void	
  *arg)	
  	
  {	
  

	
  

	
  	
  	
  	
  int	
  ok	
  =	
  0;	
  

	
  	
  	
  	
  int	
  ng	
  =	
  0;	
  

	
  

	
  	
  	
  	
  Packetdata	
  recvpacket;	
  

	
  	
  	
  	
  fd_set	
  fds;	
  

	
  	
  	
  	
  struct	
  timeval	
  now,	
  timeout;	
  

	
  

	
  	
  	
  	
  Replypacket	
  reply[MAXROUTE];	
  

	
  	
  	
  	
  Recvdata	
  old[MAXROUTE];	
  

	
  

	
  	
  	
  	
  int	
  on	
  =	
  1;	
  

	
  	
  	
  	
  int	
  recvMsgSize;	
  

	
  	
  	
  	
  struct	
  sockaddr_storage	
  from;	
  

	
  	
  	
  	
  socklen_t	
  fromlen;	
  

	
  

	
  	
  	
  	
  //for	
  reply	
  

	
  	
  	
  	
  char	
  relayhost[NI_MAXHOST];	
  

	
  	
  	
  	
  int	
  cs;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *cres;	
  

	
  

	
  	
  	
  	
  //msghdr	
  

	
  	
  	
  	
  struct	
  addrinfo	
  hints,	
  *replyres;	
  

	
  	
  	
  	
  struct	
  msghdr	
  mheader;	
  

	
  	
  	
  	
  struct	
  iovec	
  message;	
  

	
  	
  	
  	
  struct	
  sockaddr_in6	
  *I1;	
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  struct	
  cmsghdr	
  *cmsgptr;	
  

	
  	
  	
  	
  void	
  *ptr;	
  

	
  

	
  	
  	
  	
  //arguments	
  

	
  	
  	
  	
  RS_arg	
  *argp	
  =	
  (RS_arg	
  *)arg;	
  

	
  	
  	
  	
  int	
  s;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  

	
  	
  	
  	
  s	
  =	
  argp-­‐>s;	
  

	
  	
  	
  	
  res	
  =	
  argp-­‐>res;	
  

	
  	
  	
  	
  sendtimelist	
  =	
  argp-­‐>sendtimelist;	
  

	
  	
  	
  	
  sprintf(relayhost,	
  "%s",	
  argp-­‐>relayhost);	
  

	
  	
  	
  	
  cs	
  =	
  argp-­‐>cs;	
  

	
  	
  	
  	
  cres	
  =	
  argp-­‐>cres;	
  

	
  

	
  	
  	
  	
  free(argp);	
  

	
  

	
  	
  	
  	
  setsockopt(s,	
  IPPROTO_IPV6,	
  IPV6_RTHDR,	
  &on,	
  sizeof(on));	
  

	
  	
  	
  	
  fromlen	
  =	
  sizeof(from);	
  

	
  

	
  	
  	
  	
  message.iov_base	
  =	
  (void	
  *)&reply[SUB];	
  

	
  	
  	
  	
  message.iov_len	
  =	
  sizeof(Replypacket);	
  

	
  

	
  	
  	
  	
  memset(&mheader,	
  0,	
  sizeof(mheader));	
  

	
  	
  	
  	
  mheader.msg_name	
  =	
  cres-­‐>ai_addr;	
  

	
  	
  	
  	
  mheader.msg_namelen	
  =	
  cres-­‐>ai_addrlen;	
  

	
  	
  	
  	
  mheader.msg_iov	
  =	
  &message;	
  

	
  	
  	
  	
  mheader.msg_iovlen	
  =	
  1;	
  

	
  

	
  	
  	
  	
  //for	
  reply	
  

	
  	
  	
  	
  //getaddrinfo	
  for	
  relay	
  node	
  

	
  	
  	
  	
  memset(&hints,	
  0,	
  sizeof(hints));	
  

	
  	
  	
  	
  hints.ai_family	
  =	
  AF_INET6;	
  

	
  	
  	
  	
  error	
  =	
  getaddrinfo(relayhost,	
  NULL,	
  &hints,	
  &replyres);	
  

	
  	
  	
  	
  if(error)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "nego_client:%s¥n",	
  relayhost);	
  

	
  	
  	
  	
  	
  	
  	
  	
  exit(1);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  //cmsg	
  

	
  	
  	
  	
  ptr	
  =	
  malloc(inet6_rthdr_space(IPV6_RTHDR_TYPE_0,	
  1));	
  

	
  	
  	
  	
  cmsgptr	
  =	
  inet6_rthdr_init(ptr,	
  IPV6_RTHDR_TYPE_0);	
  

	
  

	
  	
  	
  	
  I1	
  =	
  (struct	
  sockaddr_in6	
  *)replyres-­‐>ai_addr;	
  

	
  	
  	
  	
  inet6_rthdr_add(cmsgptr,	
  &(I1-­‐>sin6_addr),	
  IPV6_RTHDR_LOOSE);	
  

	
  	
  	
  	
  inet6_rthdr_lasthop(cmsgptr,	
  IPV6_RTHDR_LOOSE);	
  

	
  	
  	
  	
  mheader.msg_control	
  =	
  ptr;	
  

	
  	
  	
  	
  mheader.msg_controllen	
  =	
  cmsgptr-­‐>cmsg_len;	
  

	
  

	
  	
  	
  	
  memset(&reply,	
  0,	
  sizeof(reply));	
  

	
  	
  	
  	
  memset(&old,	
  0,	
  sizeof(old));	
  

	
  	
  	
  	
  old[MAIN].trid	
  =	
  -­‐1;	
  

	
  	
  	
  	
  old[SUB].trid	
  =	
  -­‐1;	
  

	
  

	
  	
  	
  	
  timeout.tv_sec	
  =	
  RECVTIMEOUT_SEC;	
  

	
  	
  	
  	
  timeout.tv_usec	
  =	
  0;	
  

	
  

	
  	
  	
  	
  while(1)	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  FD_ZERO(&fds);	
  

	
  	
  	
  	
  	
  	
  	
  	
  FD_SET(s,&fds);	
  

	
  	
  	
  	
  	
  	
  	
  	
  recvMsgSize	
  =	
  select(s	
  +	
  1,&fds,NULL,NULL,&timeout);	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(recvMsgSize	
  ==	
  0)	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].trid	
  =	
  INT_MAX;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendto(cs,	
  &reply[MAIN],	
  sizeof(Replypacket),	
  0,	
  cres-­‐>ai_addr,	
  cres-­‐>ai_addrlen);	
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  fprintf(stdout,	
  "recv_serv	
  timeout	
  error	
  %d:%d¥n",	
  ok,	
  ng);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(FD_ISSET(s,&fds))	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  //	
  socket	
  is	
  ready	
  fo	
  reading.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  memset(&recvpacket,	
  0,	
  sizeof(recvpacket));	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  recvMsgSize	
  =	
  recvfrom(s,	
  &recvpacket,	
  sizeof(recvpacket),	
  0,	
  (struct	
  sockaddr	
  *)&from,	
  &fromlen);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(error)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "receive:	
  %s¥n",	
  gai_strerror(error));	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  exit(1);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  gettimeofday(&now,	
  NULL);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(recvpacket.trid	
  !=	
  old[recvpacket.route].trid)	
  {	
  //	
  receive	
  new	
  train	
  packet	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if(old[recvpacket.route].trid	
  >=	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  //	
  send	
  back	
  TACK	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].id	
  =	
  old[recvpacket.route].id;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if	
  (reply[recvpacket.route].td2	
  ==	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  //	
  when	
  td2	
  was	
  not	
  set.(last	
  packet	
  is	
  lost.)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ng++;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].td2	
  =	
  now.tv_usec;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  if(recvpacket.route	
  ==	
  MAIN)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendto(cs,	
  &reply[MAIN],	
  sizeof(Replypacket),	
  0,	
  cres-­‐>ai_addr,	
  cres-­‐>ai_addrlen);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sendmsg(cs,	
  &mheader,	
  0);	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  //	
  new	
  train	
  data	
  initialize	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].trid	
  =	
  recvpacket.trid;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].route	
  =	
  recvpacket.route;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].td1	
  =	
  now.tv_usec;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].td2	
  =	
  0;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  old[recvpacket.route].trid	
  =	
  recvpacket.trid;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  old[recvpacket.route].id	
  =	
  0;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  received	
  flag	
  merge	
  

	
  	
  	
  	
  	
  	
  	
  	
  old[recvpacket.route].id	
  +=	
  recvpacket.id;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(recvpacket.id	
  ==	
  (1	
  <<	
  (TRAIN	
  -­‐	
  1)))	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  //	
  for	
  last	
  packet	
  of	
  the	
  train	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ok++;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  reply[recvpacket.route].td2	
  =	
  now.tv_usec;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  }	
  

	
  	
  	
  	
  /*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  end	
  of	
  while	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

	
  

	
  	
  	
  	
  fprintf(stdout,	
  "Loop	
  Out	
  succeed¥n");	
  

}	
  

	
  

//	
  negotiation	
  on	
  server	
  

int	
  nego_server(char	
  *port,	
  char	
  *relayhost,	
  char	
  *clienthost,	
  struct	
  addrinfo	
  **rres1,	
  int	
  *rs1,	
  struct	
  addrinfo	
  **sres1,	
  int	
  *ss1){	
  

	
  	
  	
  	
  struct	
  sockaddr_storage	
  from;	
  

	
  	
  	
  	
  socklen_t	
  len;	
  

	
  	
  	
  	
  int	
  recvMsgSize;	
  

	
  

	
  	
  	
  	
  struct	
  sockaddr_in6	
  *source;	
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  char	
  clientport[NI_MAXSERV];	
  

	
  

	
  	
  	
  	
  *rres1	
  =	
  make_socket(NULL,	
  port,	
  rs1,	
  1);	
  

	
  

	
  	
  	
  	
  len	
  =	
  sizeof(struct	
  sockaddr_storage);	
  

	
  

	
  	
  	
  	
  //receive	
  relayhost	
  

	
  	
  	
  	
  recvMsgSize	
  =	
  recvfrom(*rs1,	
  relayhost,	
  NI_MAXHOST,	
  0,	
  (struct	
  sockaddr	
  *)&from,	
  &len);	
  

	
  	
  	
  	
  sprintf(clientport,	
  "%d",	
  atoi(port)+1);	
  

	
  

	
  	
  	
  	
  source	
  =	
  (struct	
  sockaddr_in6	
  *)&from;	
  

	
  	
  	
  	
  inet_ntop(AF_INET6,	
  &(source-­‐>sin6_addr),	
  clienthost,	
  NI_MAXHOST);	
  

	
  	
  	
  	
  *sres1	
  =	
  make_socket(clienthost,	
  clientport,	
  ss1,	
  0);	
  

	
  	
  	
  	
  sendto(*ss1,	
  &relayhost,	
  NI_MAXHOST,	
  0,	
  (*sres1)-­‐>ai_addr,	
  (*sres1)-­‐>ai_addrlen);	
  

	
  

	
  	
  	
  	
  return	
  0;	
  

}	
  

	
  

int	
  nego_client(char	
  *host,	
  char	
  *port,	
  char	
  *relayhost,	
  struct	
  addrinfo	
  **sres1,	
  int	
  *ss1,	
  struct	
  addrinfo	
  **rres1,	
  int	
  *rs1)	
  	
  {	
  

	
  	
  	
  	
  char	
  recvport[NI_MAXSERV];	
  

	
  	
  	
  	
  int	
  recvMsgSize;	
  

	
  	
  	
  	
  socklen_t	
  fromlen;	
  

	
  	
  	
  	
  struct	
  sockaddr_storage	
  from;	
  

	
  	
  	
  	
  char	
  recvbuff[BUFF];	
  

	
  

	
  	
  	
  	
  struct	
  addrinfo	
  hints;	
  

	
  	
  	
  	
  char	
  buff[NI_MAXHOST];	
  

	
  	
  	
  	
  struct	
  msghdr	
  mheader;	
  

	
  	
  	
  	
  struct	
  iovec	
  message;	
  

	
  	
  	
  	
  struct	
  sockaddr_in6	
  *I1;	
  

	
  	
  	
  	
  struct	
  cmsghdr	
  *cmsgptr;	
  

	
  	
  	
  	
  void	
  *ptr;	
  

	
  

	
  	
  	
  	
  *sres1	
  =	
  make_socket(host,	
  port,	
  ss1,	
  0);	
  

	
  

	
  	
  	
  	
  sprintf(recvport,	
  "%d",	
  atoi(port)+1);	
  

	
  	
  	
  	
  *rres1	
  =	
  make_socket(NULL,	
  recvport,	
  rs1,	
  1);	
  

	
  

	
  	
  	
  	
  //msghdr	
  

	
  	
  	
  	
  message.iov_base	
  =	
  buff;	
  

	
  	
  	
  	
  message.iov_len	
  =	
  sizeof(buff);	
  

	
  

	
  	
  	
  	
  memset(&mheader,	
  0,	
  sizeof(mheader));	
  

	
  	
  	
  	
  mheader.msg_name	
  =	
  (*sres1)-­‐>ai_addr;	
  

	
  	
  	
  	
  mheader.msg_namelen	
  =	
  (*sres1)-­‐>ai_addrlen;	
  

	
  	
  	
  	
  mheader.msg_iov	
  =	
  &message;	
  

	
  	
  	
  	
  mheader.msg_iovlen	
  =	
  1;	
  

	
  

	
  	
  	
  	
  //getaddrinfo	
  for	
  relay	
  node	
  

	
  	
  	
  	
  memset(&hints,	
  0,	
  sizeof(hints));	
  

	
  	
  	
  	
  hints.ai_family	
  =	
  AF_INET6;	
  

	
  	
  	
  	
  if(getaddrinfo(relayhost,	
  NULL,	
  &hints,	
  rres1)){	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "nego_client:%s¥n",	
  relayhost);	
  

	
  	
  	
  	
  	
  	
  	
  	
  exit(1);	
  

	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  ptr	
  =	
  malloc(inet6_rthdr_space(IPV6_RTHDR_TYPE_0,	
  1));	
  

	
  	
  	
  	
  cmsgptr	
  =	
  inet6_rthdr_init(ptr,	
  IPV6_RTHDR_TYPE_0);	
  

	
  

	
  	
  	
  	
  I1	
  =	
  (struct	
  sockaddr_in6	
  *)(*rres1)-­‐>ai_addr;	
  

	
  	
  	
  	
  inet6_rthdr_add(cmsgptr,	
  &(I1-­‐>sin6_addr),	
  IPV6_RTHDR_LOOSE);	
  

	
  	
  	
  	
  inet6_rthdr_lasthop(cmsgptr,	
  IPV6_RTHDR_LOOSE);	
  

	
  	
  	
  	
  mheader.msg_control	
  =	
  ptr;	
  

	
  	
  	
  	
  mheader.msg_controllen	
  =	
  cmsgptr-­‐>cmsg_len;	
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  //send	
  relay	
  node	
  

	
  	
  	
  	
  sprintf(buff,	
  "%s",	
  relayhost);	
  

	
  	
  	
  	
  sendmsg(*ss1,	
  &mheader,	
  0);	
  

	
  

	
  	
  	
  	
  recvMsgSize	
  =	
  recvfrom(*rs1,	
  recvbuff,	
  sizeof(recvbuff),	
  0,	
  (struct	
  sockaddr	
  *)&from,	
  &fromlen);	
  

	
  

	
  	
  	
  	
  return	
  0;	
  

}	
  

	
  

//	
  control	
  module	
  on	
  client	
  

void	
  *recv_client(void	
  *arg)	
  	
  {	
  

	
  	
  	
  	
  long	
  *sleeptimecontrol;	
  //	
  sending	
  interval	
  [nsec]	
  

	
  	
  	
  	
  double	
  *width,	
  maxwidth	
  =	
  0;	
  

	
  	
  	
  	
  double	
  ws,	
  wr;	
  	
  	
  	
  	
  	
  //	
  sending	
  &	
  receiving	
  rate	
  

	
  	
  	
  	
  double	
  delay,	
  r;	
  	
  //	
  sending	
  time	
  &	
  sending	
  rate	
  ratio	
  

	
  	
  	
  	
  double	
  recv_packet_rate;	
  

	
  	
  	
  	
  long	
  ts,	
  td;	
  	
  //	
  sending	
  receiving	
  time	
  

	
  	
  	
  	
  int	
  s,	
  on	
  =	
  1,	
  recvMsgSize;	
  

	
  	
  	
  	
  int	
  route_state[MAXROUTE]	
  =	
  {};	
  

	
  	
  	
  	
  int	
  PC_flag	
  =	
  RESET;	
  

	
  	
  	
  	
  int	
  num_recv_packet;	
  

	
  	
  	
  	
  int	
  t,	
  sum_offset	
  =	
  0,	
  ave_offset	
  =	
  0;	
  

	
  

	
  	
  	
  	
  double	
  calibrated_width;	
  

	
  	
  	
  	
  double	
  width_cache[MAXROUTE];	
  

	
  

	
  	
  	
  	
  RC_arg	
  *argp	
  =	
  (RC_arg	
  *)arg;	
  

	
  	
  	
  	
  Replypacket	
  recvpacket;	
  

	
  	
  	
  	
  Senddata	
  *sendtimelist;	
  

	
  

	
  	
  	
  	
  struct	
  sockaddr_storage	
  from;	
  

	
  	
  	
  	
  struct	
  timeval	
  timeout;	
  

	
  	
  	
  	
  struct	
  addrinfo	
  *res;	
  

	
  

	
  	
  	
  	
  socklen_t	
  fromlen;	
  

	
  	
  	
  	
  fd_set	
  fds;	
  

	
  

	
  	
  	
  	
  struct	
  timeval	
  now;	
  

	
  	
  	
  	
  struct	
  tm	
  *now_time;	
  

	
  

	
  	
  	
  	
  s	
  =	
  argp-­‐>s;	
  

	
  	
  	
  	
  res	
  =	
  argp-­‐>res;	
  

	
  	
  	
  	
  sendtimelist	
  =	
  argp-­‐>sendtimelist;	
  

	
  	
  	
  	
  sleeptimecontrol	
  =	
  argp-­‐>sleeptimecontrol;	
  

	
  	
  	
  	
  width	
  =	
  argp-­‐>width;	
  

	
  	
  	
  	
  free(argp);	
  

	
  

	
  	
  	
  	
  timeout.tv_sec	
  =	
  RECVTIMEOUT_SEC;	
  

	
  	
  	
  	
  timeout.tv_usec	
  =	
  0;	
  

	
  

	
  	
  	
  	
  setsockopt(s,	
  IPPROTO_IPV6,	
  IPV6_RTHDR,	
  &on,	
  sizeof(on));	
  

	
  	
  	
  	
  fromlen	
  =	
  sizeof(from);	
  

	
  

	
  	
  	
  	
  /*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  TACK	
  receive	
  loop	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

	
  	
  	
  	
  do	
  	
  {	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  TACL	
  receive	
  

	
  	
  	
  	
  	
  	
  	
  	
  FD_ZERO(&fds);	
  

	
  	
  	
  	
  	
  	
  	
  	
  FD_SET(s,	
  &fds);	
  

	
  	
  	
  	
  	
  	
  	
  	
  recvMsgSize	
  =	
  select(s	
  +	
  1,	
  &fds,	
  NULL,	
  NULL,	
  &timeout);	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(recvMsgSize	
  ==	
  0)	
  	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "¥nrecv_client	
  timeout	
  error¥n");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  break;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(FD_ISSET(s,&fds))	
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  recvMsgSize	
  =	
  recvfrom(s,	
  &recvpacket,	
  sizeof(Replypacket),	
  0,	
  (struct	
  sockaddr	
  *)&from,	
  &fromlen);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  t	
  =	
  recvpacket.trid	
  %	
  LISTMAX;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  check	
  umber	
  of	
  received	
  packets	
  

	
  	
  	
  	
  	
  	
  	
  	
  num_recv_packet	
  =	
  bitcount(recvpacket.id);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  calc	
  sending	
  time	
  &	
  receiving	
  time	
  

	
  	
  	
  	
  	
  	
  	
  	
  ts	
  =	
  sendtimelist[t].ts2	
  -­‐	
  sendtimelist[t].ts1;	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(ts	
  <	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ts	
  +=	
  1000000;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  	
  	
  	
  	
  	
  	
  	
  td	
  =	
  recvpacket.td2	
  -­‐	
  recvpacket.td1;	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(td	
  <	
  0)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  td	
  +=	
  1000000;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  calculate	
  sending	
  and	
  receiving	
  status	
  

	
  	
  	
  	
  	
  	
  	
  	
  ws	
  =	
  ((double)packet_size[recvpacket.route]	
  *	
  (TRAIN	
  -­‐	
  1)	
  /	
  (double)ts)	
  /	
  1000;	
  

	
  	
  	
  	
  	
  	
  	
  	
  wr	
  =	
  ((double)packet_size[recvpacket.route]	
  *	
  (num_recv_packet	
  -­‐	
  1)	
  /	
  (double)td)	
  /	
  1000;	
  

	
  	
  	
  	
  	
  	
  	
  	
  delay	
  =	
  ts	
  /	
  (double)td;	
  

	
  	
  	
  	
  	
  	
  	
  	
  r	
  =	
  wr	
  /	
  ws;	
  

	
  	
  	
  	
  	
  	
  	
  	
  recv_packet_rate	
  =	
  (double)num_recv_packet	
  /	
  (double)TRAIN;	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  gettimeofday(&now,	
  NULL);	
  

	
  	
  	
  	
  	
  	
  	
  	
  now_time	
  =	
  localtime((time_t	
  *)	
  &now);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  output	
  tarin	
  information	
  before	
  update	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "¥n%2d:%2d:¥t%2d.%06d¥t",	
  now_time-­‐>tm_hour,	
  now_time-­‐>tm_min,	
  now_time-­‐>tm_sec,	
  now.tv_usec);	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "%d¥t%d¥t",	
  recvpacket.trid,	
  recvpacket.route);	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "%ld¥t%ld¥t%ld¥t%ld¥t%ld¥t%ld¥t%.3f¥t",	
  sendtimelist[t].ts1,	
  sendtimelist[t].ts2,	
  ts,	
  recvpacket.td1,	
  

recvpacket.td2,	
  td,	
  delay);	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "%x¥t%d¥t",	
  recvpacket.id,	
  num_recv_packet);	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "%f¥t%f¥t%.3f¥t%f¥t%f¥t%ld¥t%ld¥t",	
  ws,	
  wr,	
  r,	
  width[MAIN],	
  width[SUB],	
  sleeptimecontrol[MAIN],	
  

sleeptimecontrol[SUB]);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  sending	
  status	
  judge	
  &	
  sending	
  rate	
  update	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  (recvpacket.td2	
  <	
  recvpacket.td1)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  route_state[recvpacket.route]	
  =	
  INVALID;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "invalid¥t");	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  if	
  (num_recv_packet	
  <	
  TRAIN)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  route_state[recvpacket.route]	
  =	
  LOSS;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "loss¥t");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  width[recvpacket.route]	
  =	
  min(width[recvpacket.route],wr	
  -­‐	
  WIDTH_SHIFT);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  if(r	
  <	
  THRESHOLD_MIN)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  route_state[recvpacket.route]	
  =	
  SDELAY;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "delay¥t");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  width[recvpacket.route]	
  =	
  min(width[recvpacket.route],wr);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  if(r	
  >	
  THRESHOLD_MAX)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  route_state[recvpacket.route]	
  =	
  ABNORMAL;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "abnormal¥t");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  width[recvpacket.route]	
  =	
  min(width[recvpacket.route],sendtimelist[t].widthcache	
  -­‐	
  WIDTH_SHIFT);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  route_state[recvpacket.route]	
  =	
  NORMAL;	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "normal¥t");	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  width[recvpacket.route]	
  =	
  max(width[recvpacket.route],sendtimelist[t].widthcache	
  +	
  WIDTH_SHIFT);	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  sending	
  rate	
  normalize	
  

	
  	
  	
  	
  	
  	
  	
  	
  if	
  (width[recvpacket.route]	
  >	
  MAXWIDTH)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  width[recvpacket.route]	
  =	
  MAXWIDTH;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
  else	
  if	
  (width[recvpacket.route]	
  <	
  MINWIDTH)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  width[recvpacket.route]	
  =	
  MINWIDTH;	
  

	
  	
  	
  	
  	
  	
  	
  	
  }	
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  //	
  update	
  sending	
  interval	
  for	
  current	
  path	
  

	
  	
  	
  	
  	
  	
  	
  	
  sleeptimecontrol[recvpacket.route]	
  =	
  packet_size[recvpacket.route]	
  /	
  bandwidth_calibration(width[recvpacket.route]);	
  

	
  

	
  	
  	
  	
  	
  	
  	
  	
  //	
  output	
  sending	
  rate	
  information	
  after	
  update	
  

	
  	
  	
  	
  	
  	
  	
  	
  fprintf(stdout,	
  "%f¥t%f¥t%ld¥t%ld¥t",	
  width[MAIN],	
  width[SUB],	
  sleeptimecontrol[MAIN],	
  sleeptimecontrol[SUB]);	
  

	
  

	
  	
  	
  	
  }	
  while(recvpacket.trid	
  <	
  (SENDPACKETNUM	
  -­‐	
  3));	
  

	
  	
  	
  	
  /*-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  end	
  of	
  TACK	
  receive	
  loop-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐*/	
  

	
  

}	
  

	
  

//	
  bandwidth	
  calibration	
  

double	
  bandwidth_calibration(double	
  width)	
  {	
  

	
  	
  	
  	
  return	
  0.0044	
  *	
  width	
  *	
  width	
  +	
  1.0246	
  *	
  width	
  -­‐	
  0.5922;	
  

}	
  

	
  

//	
  cout	
  "1"	
  on	
  bitstream	
  

int	
  bitcount(unsigned	
  short	
  recv_flag)	
  	
  {	
  

	
  	
  	
  	
  int	
  count;	
  

	
  

	
  	
  	
  	
  for(count	
  =	
  0;	
  recv_flag	
  !=	
  0;	
  recv_flag	
  >>=	
  1)	
  {	
  

	
  	
  	
  	
  	
  	
  	
  	
  if(recv_flag	
  &	
  1)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  count++;	
  

	
  	
  	
  	
  }	
  

	
  	
  	
  	
  return	
  count;	
  

}	
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